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IMPORTANT INSTRUCTIONS

. This Question Booklet contains 150 questions in all.
. All questions carry equal marks,

. Immediately after commencement of the examination, you should check up your Question

Booklet and ensure that the Question B lion, yo P hand

ooklet Series is printed on the top right-hand corner
of the 1gooklet. Please check that the Booklet contains 4p8 printed pages including two pages
(Page Nos. 46 and 47) for Rough Work and no page or question is missing or unprinted or

torn or repeated. If you find d ; ; i laced immediately by a
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. If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi

versions of the questions, the English version will be treated as standard.

. You must write your Roll Number in the space provided on the top of this page. Do not write

anything else on the Question Booklet.

- An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You

must write_your Name, Roll Number, Question Booklet Series and other particulars in the
space provided on Page-2 of the Answer Sheet provided, failing which your Answer Sheet
will not be evaluated.

. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is

printed on the top right-hand comer of the Question Booklet with Black/Blue ink ballpoint pen in
the space provided on Page—2 of your Answer Sheet. If you do not encode or fail to encode the
correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

. Questions and their responses are printed in English and Hindi versions in this Booklet. Each

question comprises of five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. Your total marks will depend on the number of
correct responses marked by you in the Answer Sheet.

. In the Answer Sheet, there are five circles—(A), (B), (C), (D) and (E) against each question. To

answer the questions you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of
your choice for each ‘question. Select only one response for each question and mark it in your
Answer Sheet. If you mark more than one circle for one question, the answer will be treatéd as
wrong. Use Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any
erasure or change is not allowed.

For each question for which a wrong answer/more than one answer has been given by the
candidates, one-fourth of the marks assigned to-that question will be deducted as penalty.

from the Question Booklet. Y

You should not remove or tear off any sheet €. 1ou are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has ¢_°“d"ded’ you must hand over your Answer Sheet to
the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you,
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1. The parts of the skeleton that are not as hard
as bones and which can be bent are called as =
(A) vertebrae
(B) carpals

\jﬁ) cartilage
(D) More than one of the above
(E) None of the above

2. In lichen, a chlorophyll-containing partne
live together.
(A) alga and a fungus
) fungus and a bacterium
(C) alga and a virus
(D) More than one of the above
(E) None of the above

female Culcx because it sits
(A) at right angle to the surface o
substratum
J(B) at an angle with substratum
(C) parallel to the surface of substratum
(D) More than one of the above
(E) None of the above

4. The most important cell type associated with
the immunity of the body is

(A) RBCs =

(B) platelets

VQC) lymphocytes
(D) More than one of the above
(E) None of the above

5. Which one of the following statements
incorrect about muscles in human body?
(A) Muscles can only push the bone.
(B) Muscles work in pairs.

(C) Muscles become shorter, stiffer and
thicker when contracted.
AD) More than one of the above
(E) None of the above
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6. Large number of thin strips of black paint
are made on the surface of a convex lens of

focal length 20 cm to catch the image of
a white horse. The image will be

_/{"H"} a horse of less brightness

(B) a zebra of black stripes
(C) a horse of black stripes
(D) More than one of the above

(E) None of the above

@Shrillness of sound is determined by
(A) velocity of sound
=t
(B) amplitude of sound 5 e
)é;C) wavelength of sound
(D) More than one of the above

\/E) None of the above

8. Which of the following photoelectric devices
is most suitable for digital applications?

\S/’O Photodiode
(B) Photovoltaic cell

== (C) Photoemitter

(D) More than one of the above
(E) None of the above

9. Ball bearings are used to convert static
friction into

i i ) rolling friction

(B) drag
(C) sliding friction
(D) More than one of the above

(E) None of the above

[ Contd.
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1. A goalkeeper in a game of football pulls his
hands backwards after holding the ball shot
at the goal. This enables the goalkeeper 10

J-"{]l decrease the rate of change of
maomenium

(B) exert large force on the ball

(C) increase the force exerted by the ball
on hands

(D) More than one of the above
(E) None of the above

I1. Which among the following is a positively
charged particle emiftted by a radioactive

element? '
(A) Cathode ray
(B} Beta ray
(],
= B
_{€) Alpha ray Eﬁ%&l

(I} More than one of the above

{E} None of the above

12. Centripetal force is responsible 1o

(A) independent motion of the object in
WPALE.

(B} keep the body moving along the circular
path ./

(C} fy the object along a straight line
¥ More than one of the above

(E) None of the above

02FHICC/PT-2023/144-B

13. Which of the following energy changes
invelves frictional force?

,JH] Kinetic energy to heat ENETEY
(B) Potential encrgy to sound energy
(C) Chemical energy to heat encrgy
(D) More than one of the abave

(E) Mone of the above

14. A bus is moving along a straight path and
takes a sharp turn to the right side suddenly,
The passengers silting in the bus will

[
{A) bent towards right side
(B) fall in the forward direction
V,t(f} bent towards left side
(D) More than one of the above

(E) Mone of the above

15. Before playing the orchestra in @ musical
concert, a sitarist tries to adjust the tension
and pluck the string suitably. By doing so,
hesshe is adjusting

) frequency of the siter string with the
frequency of other musical instruments

(B} amplitude of sound
(C) intensity of sound
() More than one of the above

(E) Mone of the abave

[ Conrd.
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16. A form of matter has no fixed shape but it has
4 fixed volume. An example of this form of
miatter is

19. Acids react with metal carbonates 1o liberate
gas,
(A} Hy

(A} carbon steel

(B) krypton
{E_} kemosene
(D) More than one of the abave

(E} MNone of the abave

17. Some metal oxides react with acid as well as
base 1o produce salt and water. They are
known as amphoteric oxides. The examples
of amphoteric oxides arc

i

]

(A) CuD and Zn0
(B) Al Oy and ZnO

(C) AlyOy and Cu0

e A ATy B

U{E"} More than cne of the above

(E} Mone of the above

| ||"|
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18. Which gas contributes to global warmings
through its greenhouse effect? :

—_—

——

(A) Carbon dioxide £
(B} Nitrous oxide '_;;
(C} Methane = :E':'g
_ﬂ{ﬁ) More than one of the above =
(E} HNone of the above
D2FH/CC/PT-2023/144-B 6
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B) €O,

(C) CO
(D) More than one of the above
(E) None of the above

20. Which acid is described as HODCCOOH 7

(A} Carbonic acid

t@’ Oxalic acid
(C) Acetic acid ¢ qoyy ~ (OBY
(D) More than cne of the above
(E} Mone of the above

ﬂ"—& (touW

1. You have been provided with three test trubes.
One of them eontains distilled water and
the other two contain an acidic solution and
a basic soluthon, respectively. Which of them
will em red litmus to blue?

(A) Distilled water

JO) Base

(D) More than one of the ahove
(E) Mone of the above

£33, The odour of acelic acid resembles that of

Jﬁ,‘; vinegar

(B) tomato

(C) kernsene

(D) More than one of the above
(E) MNone of the above

[ Contd.
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Why does dry HCl gas mof change the
colour of dry litmus paper?

(A) HCI gas acts as a dehydrating agent.

(B) Blue litmus becomes dry in the presence
of dry HCI gas.

(C) No Hy0% ions are present Litmus
changes colour only in the presence of
H;0% ions.

(D) More than one of the above

(E) MNone of the above

24. Detect the odd one.
{A) Ripening of fruit
E?} Setting of cement
(C) Burning of coal
(D) More than one of the above

(E) None of the above

25. Which of the following statements about
diamond and graphite 15 true?

‘kﬁ} They have same electrical conductivity.

(B) They have same crystal structure,

1855 (=]
ﬁ% (C) They have same degree of hardness.

(D) More than one of the above

wdi} MNone of the above

D2FH/CC/PT-2023/144-B

26. The stomata cpen or close due to changs
in the
(A} position of nucleus in cells
(B) protein composition of cells
‘}L}j amount of water in cells
(D) More than one of the above
(E} None of the above
27. Chlorophyll absorbs _ wavelengths of

the. sunlight.
) red and blue

(B) green and blue

(C) green and red

(D) More than one of the above
(E) None of the above

28. Which of the following is sef a8 correct
match?

{A) Petiole : Attaches leaf to siem
(B} Thick, hard stem with branching near
base : Tree
\Ep.:i Weak stem which cannot stand upright :
Creeper
{D) More than one of the above
(E)} Mone of the above

29, Water reaches great heights in trees because
of suction pull caused by
{A) cvaporation
(B) absorplion
st transpiration
() More than one of the above
(E} MNone of the above

30. Which among the following is a character
of chloroplast which makes them gualified
to self-replication? :

(AT Presence of both DNA and RNA
(B} Presence of DNA only
(C) Absence of RNA
(D) More than cne of the above

(E) Mone of the above

[ Contd
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31. How many words, no matter if they arc*

meaningless, can be formed by the letters
of the word ‘_]Z}IM_I"."I”'E" @ @,
o

A

(A) 24 @ e
®) 5 B, s
(©) 10 @ ‘-;-J” L

b4

(D) More than one of the above
Vf,l!j MNone of the above

Im:t the missing number from the given!|
alternatives 1 « 2 =

ST £k
@%@@@%

In a code language, if FAS'@\ 15 written
7 as 2220212319 and MONK is written as
15161412, then how will GUIDE be writien

in the same language? o wd K
(A) 192019423 s Wl
(B) 212219523 OR

%)

(C) 222119522 ‘F;,
(DY) More than one of the above

(E) None of the above

3
44 i 3_?- iq_‘)n --F:'Tﬁi A rectangle has an area 30 em © and perimeter
%E ; i -"2]'-'1 Ez:i: 26 cm. Itz sides (in cm) are

SL‘ [52 7 | 41 \O o= o 2% o
\ LU sg]5s 5 (A e 10,3 g

(A) 66 N " £FE ® 56 /,,',n\xil"‘x'

(B) 56 o 9 -{13 \ (C) 2,15

{C) 77 _,.f"'f (D) More than one of the shove

(D} More than one of the above
(E) Mone of the above

@Fmﬂ the missing number in the given am:s-.
following the same pattern :

T -r'r'-i-
!I

(E] Mone of the above

@A shopkecper offers 10% discount on
an item with marked price 400, If he

charges 10% GST, then the final price of

|

. l::’ A i the treen s
|5, 20, 32, 62, 118, 248, 7 ﬁ"f% e SHecHERE 460
(A) A O o= (A TR atl =
o, B ,
®) 322 .S A B a0 360
(©) 368 e \Cy F 196
(D} More than ene of the above (DY) More than one of the above
(E) Neone of the above (E) None of the above
0/ FH/CC/FT-2023/144-B 10 [ Cantd
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s1. 7 'DIARY' % 316 & 5t wg g un | 34, et 2 v § 72 FASTER & 2229212319

Wk B, S N e ﬁmﬁammcwﬁﬂrmm-uzﬁmﬁt,
(A) 24 # GUIDE = =0 v & ¥ feEnt
(B) § | (ay 192019423
(€ 10 M By 212219523
(o). T3 08 U il __ (C) 222119522
U | :":_ (D) sEE S @ T R A
3. ﬁqmﬁﬂﬁﬁ%‘ﬂﬂﬁwﬁﬂﬁq: C(E) g A T
[
44|49 | 37
531 as.ﬁmmﬂmsﬂaﬁﬁoﬂrntm
) | e 26 8o o &y sl ypmd (B 7fie H) @
sglasis i
(A) 10,3
(A) 66
(B) 5,6
(B) 56
(C) 2,15
© 7
0H
(D) el # 2 s & s (D) I # & v # Al
33, % 7§ e & A el w1 TR T §L R 3. T R fell T oW 0% R R
T T i 3 e sifss g F400 ¥ AR = 10%
die THe fe W B, @ 3@ G5 F i o
IS, lﬂ-, 32, ﬁzs 1-1l: 2431-? ...'|1 Wl !?
(A) ¥380
(A) 428
-~ (B) ®400
©) 168 (C) ¥396
(D) T & & v @ sl (D) I9 & % TH 4 i
(E} wes & & w§ 1 (B) Todw & & =rf 7
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37, Arrange the following words in logical ai:nd 39. Which of the following statements is false?

meaningful order -
:_1‘ )
L. Vice President * ::,h '_"t" WE‘-’EF&' square is a rhombus.
2. President -
w Every square is a rectangle,
3. Speaker 5]

.Ei-ﬂ E i %
4,  Prime Minister « (C) Every rhombus is a parallelogram.

5. Members of the Parliament ore than one of the aboave

{"q"} 5I ]: 2l 31 4
(E} Mene of the above

(B) 4, 2,1, 3.5
v;e? 2 1, 4,35
40. In a family of some persons, B says that R
(D More than one of the above is the daughter of my sister 4, who is the
only daughter of T. X iz the child of T and Z,
(E}) None of the above who is the grandmother of A, K iz the mother
of M, who is the only sister of & X is
unmarried. IT § is the spouse of 4, how iz K
38. Reshma donates one-fourth of her property related 10 59
to a charity organization and divides the \

remaining property equally among her three
children. The part of property each child Brother-in-law

gets is ':
(A) half r Eﬁ (B} Sister-in-law

'LL!; Ly
\/@/; one-fourth .
.,:! (C1 Wife of brother-in-law
(4%
{C) two-thirds ,Lf; >
Oy
(D) More than one of the above (D) More than one of the above
(E) None of the above (E} Noné of the sbove
02/FH/CC/PT-2023/144-B 12
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39, ﬁﬂﬁmﬁﬁ#ﬁ-mmmﬂt?

(A} e ot me E R

(B) TR T S g ¥

(C) e g T e e B
(D) i § A vE R

() e # @ w1 T

.Em%qﬁqﬂmﬁﬂmkﬁﬁﬁﬁﬂ
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(A) =T A e

(B) ot St

K‘{E} A A )

(D) T | § T 4 s

(E) =wd & & wrf =
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41. With reference to the Consumer Disputes
Redressal at the district level in Indis,

which one of the following statements is o

aod commect?

(A} The District Forum entertains the-|

complaints where the value of goods:

or services does not cxcesd rupees .._

fifty lakhs,

(B} The State Government can establish
more than one District Forum in a
district if it deems fit.

(C) One of the members of the District
Forum shall be a WO, i

(D) More than one of the above o
JE) Mone of the ahove N (E) None of the above
{7 46. The Council of Ministers in a State is

T

42. At what level does g Panchayat Eﬂ.rmt:' :

el

operate & Panchayati Raj structure?

44, The phrase ‘equality before law' used in
Article 14 of the Indian Constitution has beey
borrowed from the Constitution of
(A) France

AB) Britain
{C) USsA
(D) More than one of the above
(E)s None of the above

|45, What was the duration in the making of
the Indian Constitution?

d“ﬂ 2 years 11 months and 18 days
(B) 1 year 10 months and 12 days

- (C) 2 ycars 10 months and 5 days

(D) More than one of the above

collectively responsible (o
Ls;rf the Legislative Assembly

) Block-level body w=fZ  (B) the Chicf Minister

(B) District level

(C) Gram Panchavat level

(I} More than cne of the above
{E)} Mone of the above

Iiir:..l

43. Which one of the following was establish E,j:- i

||I
BN

as the first programme of communi
development? _T:

:-] FE':-..

IIII & IE-__r

(A} Cooperation Movement

B National Extension Service el

{C) Integrated Rural Dm:lnpme;:_
Programme

(D) More than one of the above

(C) the Governor
() More than one of the ahove
(B} None of the above

47. Consider the following statements -
In the post-T3rd Amendment era, there has
to be decentralization of
I decision-making powers
2. system.as a whole
3. judicial powers
4.  administrative powers
Which of the above statements are cormect?
{A) 2,3 and 4 only
{(B) 1, 2 and 3 anly
(C) 1,2 and 4 only
(I} More than one of the above

(E} None of the above

0L FHICC/PT-2023/144-B 14

) None of the above
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(D) I §E U B afe
(E) 9 & & =L T

o, wF TEWA whit R o W T T
T w1 G F R

44, v i ¥ e 14 # R g
= yan e BhE 3 A AR & fon T

3

(A) B8

®) f

(C) Yo THe B2

(D) Tl A 2w A
(&) i & 8

(A) 5 o 11 e i 18 7F
(B) 1 1o = o 12 fE
(C) 274 1o e a5 A
(D) arfes & & # A
(E) mﬁﬂiﬁﬁﬂﬁfﬂ'ﬁ

mmmﬂﬁmmﬁ:mﬁmﬁnﬁi
. weed) 8t

(A) = P fa (A) Fg-w
@) e
(B): PR e (© T
(C) TW TEEE £d (D) Teiw A A E AR
=di  (B) THETA T

(o) el 3 A |4, P et e v
() =rdm A A F 733 i ¥ uw R T
1. Faia @3 6 it =
13.ﬁmﬁ1ﬁnﬁ%ﬁﬁﬂ‘iﬁﬁﬁﬂﬂ*qﬁ 2, P SR
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4. TETEGE Tl

(A) T S £47  wgpArem AT
(B) T o G0 o w23

i & @) e, 23
(©) g ) difs  © ¥ 1,2 ¥4
m}mﬁﬁﬂﬁﬂ:ﬂﬁﬁ "} (D) FF & v & afw
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48. The representation in the Rajya Sabha
includes

(A) members o inated L'n'_'|l' the President
of lndig

(B) members directly elected by citizens X

(C) members indirectly elected by citizens
through their representatives

v,{D} More than one of the above

(E) None of the ahove
4%. Which of the following is concerned with

the Supreme Court of India?
(A} Collegium system
(B) Appellate jurisdiction
{C) Original jurisdiction

V{ﬁ] More than one of the above

(E) Mone of the above

S0. The minimum age for contesting elections
to the Panchayati Raj Institutions should be
how many wvears according to the Tip
Constitutional Amendment Act?

(A) 18 years
AB) 21 years
(C) 25 years
(D} More than one of the above

(E) Mone of the above

02 FH/CCPT-2023/144-B

16

S1. At what percentage has Bipg,

the lowest Female Wurkfun;,-_ "‘g,im*l
Rate for the year 20203055, Pt

i

(A} 7% in rural ang 1% in Urban m;:‘

(B) 4% in rural and 6-5% in (1131 ar

AC) 6% in rural and 8-1% in wrban ape,

(D) More than one of the above

(E} None of the above

51. The maximum number of ax industris &

in which district?

(A} Kishanganj

)?} Darbhanga

(C) Pumia

(D) More than one of the above

\XE} None of the above

[ Comid
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48, T w0 wiaiE 4 i 8
(a) A F T g T v
() i g v

(C) ¥EE F W AR T Ty

ER IR SRR
(D) 3T T A T R wfirw
(£) T 3 A Ff

o, fefafEs § 4 B Wby g F wEe

e H 87

(A) FTafEm g

(B) sritehia #fusw &
(C) Wz e &

(D) 79w # & v § AE
(E) 3udw § 4 Hif 70

S0, 773 HET HR st & T TRl T
iﬁiﬁﬁﬁﬂaaﬁ#fmwmmﬁ

B aETE BT .
(A) 18=d

(H) 21

(Cy 25=d

(D) 394w # & 7% A AEE
(E) Fwfw & A = 7

DUFHACC/PT—2023/144B

17

51, @ 2020-2022 % FQ wEd H wfen e
mmmﬁﬂhﬁﬂﬁ?ﬂﬂﬁﬂ?ﬁ?

(A) 7% Tmdier &l # i 9-10 wEd Eet 8
(B) 4% T & 7 i 6-5% Wl &5 A

(C) 6% Tmdm et & 3 1% Tl &A1 A

[=]% (=]

S8 1y den 718 R

(E) 39w & 4 =1 T8

52, sTiEAy = T Bea T 8 B

(A) P

(1) =0

(C) T

(D) 34 & 9 v & s

(®) Todw % 2w
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J8UUEIS NIWO UMM PEUUEDS {J

53, According to the National Family Survey-3
released by the Union Ministry of Health and
Family Welfare on November 24, zc_m, there
has been a significant improvement In the sEK

ratio of Bihar, It has increased from |

in 2015-2016 1o in 20202022,

(A} 1030, 1050 s

56. Which of the followin

: E arc the objectives
the SEZ Act, 20057 d of

Gelﬂcmtinn of additional economie
o dctivity

Fromotion of exports of goods and

s Services

': _'-':; 3. Erﬂ' I]JI'I I'.'lf
(B) 1062, 1090 “hy e
(C) 1040, 1070 | (A) 1and3 only
(D) More than ane of the above BT 1, 2 and 3
djﬂf None of the above (C) 2 and 3 only

54, According to the Bihar Economic Survey
(2021-2022), what was the rate of growth

(D) More than one of the above

(E} Mone of the above
o

of Gross State Domestic Product (GSDF) qL B

Bihar in 2020-20217 e
A 25% =
=

(€) 2%

(I More than one of the above

%ffl Mone of the above

55. Which one of the following is correct for
Bihar economy?

=57, What is the policy measure adopted by the

Government of India 1o improve the system

=;|_"
= of agricultural marketing?
-

(A) Public Distribution System (PDS5)

=
=™ (B) Minimum Support Price (MSF)

(C) Maintenance of Buffer Stock
) More than one of the above
(E} Mone of the above

58, Which committes suggested the enactment

) g st s o 1™ ot b Comettn A, 200
(B) The growh rate s one of the lowdn 2l S ¥ Viey Kelkar Commitce

in India at 2-5%, % #55%  (B) Rangamjan Committee
(C} Bihar produces mostly primary EGMHEE :3} (C) §. V.S Raghavan Committee
]ép}’h'll;m: than one of the shoye r:; (D) More than one of the above

{E) None of the above

[Eii S

02/FH/CC/PT-2023/144-B

[
=l

[

(E) None of the above
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:_ - FEe ¥ g w0 &7
2 T, 2021 R Sl 56, e §» WZo wiuREm, 2005 % R
-5 % ST, FER ¥ fom sy 4 I, e anfies e w3
7= BYR B3 B TR 2015-2016 3 i
weA 2020-2022 # Band 2. wgst s dmnedl % FEl w1 A
[A) 1030, 1050 €1y & Tran Fomion
(B) 1062, 1090 -_.z:_;- (A) = I
(C) 1040, 1070 fﬂ (B) 1,23M3
D) TEE H 4 T D fus f (C) e 2 3 3
(F) Foiw 8 & =i 7 b (o) s A d
54, faEn ATEF EIEM (2021-2022) % v, (E) T A § %1% 7
2020-2021 # TR % wEw T wE T
(#fle THe Hie dio) # Fig = e Wit &7, #fe famm wonell # gum % fom WG W
(A) 2:5% €13 T s T A e e
(B) 3% ,: (A) WA By yonE (Yie e THe)
©) 2% S B el A (o e o)
(o) w3 & vw | A r“=j=: (C) TH EH w5 T
' i
(B} 394w & & w1 74 < (D) I 4 @ o B At

l

55, Ticrfafia # @ +0-m vs faEn i A= (E) 7w § & 5§ =
% nmel § ad B

558, B a3 ofwdl sfufew, 2000 #
(A) wsmgEn w1 =EEE @ w @,_ d
-y £ wfufmim =5 #1 g Gt
®) vim § ol v Pem w AW RAACLS (A) T S wfify
2-5% BI 2% (B) owew R
e | I
(©) Eﬂ;mmfﬁﬂ 2= () e e e v R
(E) 3w & & = 7 (E) =i & & = 7t
UFHICC/PT-2023/144B o [ Conid,
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\q‘i"ﬁl..'. L"-!l'q'u' . 13

59, Match List—T with List—1 :

Ligt=I Lise—IT
a. Grey Revolution 1. Onion production
b. Pink 1'-I.Eﬂ.'lﬂnlmil:u_lLI 2. Tomato and meat

production
c. Silver Revolutioh, 3. Production of enps

d. Red Revolution 4, Fertilizers
AYa b ¢ d
1 4 2 3
vgﬁ f b & d
4 1 3 ]
i) a b 3 i
E] 1 4 2

(D} More than one of the above
(E} Mone of the above

60. Which of the following Five-Year Plans was
focussed on Human Resource Development?

(A) Fifth

(B) First

(C) Third

(D) More than one of the above
JE) None of the above

&1, Which of the following Siaies of India
received the  highest Foreign  Direct
Investment (FDI) equity flow during April
to Seplember 20227

_\Ifﬁ]n Gujarat
(B) Kamataka
(C) Tripura
(D) More than one of the sbove
(E) None of the above

| AFH/CC/PT-2023/144-B

ot
b b A"I"'Erf\’

g3
L S

62, In which budget did the Finance Minister
announce the Liberslized Exchange Rate
Management System?

(A) Union Budget, 1993-]994
\(B Union Budget, 19911992
(C) Union Budget, 19921993

{3 More than one of the above

Eﬁtﬂ (E} Wone of the above

Tt

63. Which of the following were goals of
the Five-Year Plans?

; 1, Growth
2. Modemization
3. Belf-reliance

4. Literature X,

(A) I, 2 and 4 only

(B) 1, 3 and 4 only

(C) 2, 3 and 4 only

() More than one of the obove
\_’;ﬂl Mone of the above

64. Which crganization carries out the survey for
determining the poverty line?
(A) RBI
} NS5O
(C) NITI Aayog
(D) More than onc of the above
(E) Mone of the above

65. The ade balance of India (merchandise and
services) for December 2022 (provisional) is

W) (=) 11-98 USD billion
(B) (—) 10-50 USD billion
(C) (+) 1198 USD billion
(D) More than one of the ahove
(B} Mone of the above

20 [ Contd
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0, T TR 2 iR R,

bl.

-1 -1
PG l. =T T e

b TEER 2, T ol g e
¢. T T 3. % F Irm

d, T Wi 4,;,&@{%}
[(A) & b € d

I 4 2 3
Bya b ¢ d

$ 1 3 2
LC}; i; ¢ d

4 2 B

@) T E AT A "f’%
(B) I A % wrf 78
 Fefefm 4 & fn-df Tuwdfn 99, o
s B w oA o
(A) 9=H
(B) =¥H
() Fim
(D) Fodw & UF § wius
(E) 90w # & =g

e ¥ Frefafian § @ e = 3 30E W
fe 2022 3 Ao Ty e e
(w0 F1o amge), Tl F T A R Fr?
(A) T

(B) +AT*

(C) fgu

(D) I7dw § § v B 0w

® vodw & 4w

VFHICCPT-2023/144B

11

m.ﬁamﬁﬁnﬁﬂﬁﬁrﬂaﬁfaﬁmmﬂm

635,

Tomrett 1 e 17

(A) TR ===, 19931994
(B) gfEA ==z, 1991-1992
() FrA T, 1992-1993
(D) e @ e A
(E) e # & Ff

g G ¥ o Pefimm 3R

H-4 47

1. TEwEE

2. R

3. T

4. wEA

(A) F=a 1, 2 o4

(B) F==11, 3 # 4

(C) Fam1 2,340 4
(D) g 8 A o B AE
(By T i & = T

. il T = Pufim =9 % T e e

whm wTm 37

(A) ®o wHe MBe

(B) Tie UHe THs e

(Cy ifix swim

(D) =9 | 8 uw & arfus

(E) 0% ¥ 3 1§ 7

YHe W s Gged (we s )
e 2022 (wwifm) & R
(A) (=) 1198 »r@ i) 2Tan
(B) (=) 10-50 37= wafrh 2T
(C) (+) 11-98 =@ F=irhl STER
(D) T & 3w @ wfiw

(E) 98w 1 & #1§ 78

[ Comed.



J8UUEIS NIWO UMM PEUUEDS {J

66. During the Salt Satyagraha in Bihar, in.
addition to making salt, the people [:Imm_
o upp-m the government by opposing whmh

v :

(B) Haathi
{C) Development

.\ﬂﬁ More than one of the above
(E} Mone of the above

67. The elected Government of Biher formed
by Shri Krishna Singh resigned in February
1938 for which reason?

(A) Setyngmha against the Dritish at the
call of Gandhiji '1-.:
{(B) Participation in the Freedom S-u'u“ﬁ..
of India :-

(C) For the release of political prisomers = E‘:j

(D) Maore than one of the above
AE) Mone of the above

during Champaran Satyagraha?
{A) Ravindra Pathak
JH) Batak Mian

]

2 |
—.

70, The Swadeshi and Boycott were adopted a
== the methods of struggle for the [irst time

during the

(A} Home Rule Movement

(B} visit of the Simon Commission to India
L_{r(f} Partition of Bengal

(D) Morc than one of the above

(E) NMone of the above

T1. Atthe Calcutta Session of the Indian National
Congress (INC) held in 1906, the Flag of
Swaraj for India was unfurled by

« [A) G. K. Gokhale
(B} A. 0. Hume

njﬂ'ﬁ Dadabhai Naoraji
(D) More than one of the above
(E) Mone of the above

'] '|.'.II
[ s L

|| 'r"li
-q;,l' W

=

==

'l;r'"

] I -|..rJ|

72, During the freedom struggle, a parallcl
movement launched in the Indian States (in
the States ruled by the Indian rulers such as

il

‘Tﬁ Kashmir, Nizam's Hyderabad, Travancors,

elc.) was

)‘éﬁgﬂﬁmﬂ People’s Movement
} Fraja Mandal Mﬂvemm:j
/(ﬁﬁ More than one of the above-"

|
68. Who saved the life of Gandhiji in Bihar J (A} Swaraj Movement
|

(C) Hamid Ansari
(D) More than cne of the above
(E} Mone of the abave

69. Who led cultivators in Bihar during
Non-Cooperation Movement?

{A) Shri Krishna Singh
) Swami Vidyanand
(C) Raj Kumor Shokla
{D} More than one of the above

'.I:j

i,

iy

(E} None of the above

« Which of the following statements regarding

the Indian freedom strugels is mor correct!

(A) Mahatma Gandhi was arrested in the
year 1921,

(B) Gandhiji withdrew from the Moo
Cooperation Movement due to the

Chaur-Chaura Incident.
ﬁé Gandhiji gave his first major pable

peech at Banaras Hindu University.
} More than one of the above

(E) Mone of the above

(E) None of the above

0V FH/CC/FT-2023/144-B 21 [ Comid
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69,

qﬁﬂm%ﬁﬂtﬁﬁm%ﬁ,ﬁ&mm

F AW-T WER ¥ Reg feg
04 W o= g7 T W Ry

(A) T

(B) ERA

(cy FrFm '[

(D) T A H TR s
(E) THT 3 4+ =
i 7 fore T R fmr ) faifn e 3
weEtl 1938 7 TR % | v 2 R

(A) iR T Tl R Tame wites
C A |

[ﬂ]m!ﬁﬁﬂﬁrﬁﬁaaﬁmﬂﬂm@ﬁi{;
I

(C) UeHiioS *iE =1 8l &%
(D) T4 3 0 % # Aitw
(E) Tww § & g T

o warg w7

(A) HIE TEw

(B) =

(C) &g FE

(D) v # & U5 A HUw
(E) =ogw # & =g 7

| gt il

(A) oft o e

(B) =i fermrs

(©) T AR g

(D) Twm § @ wE F AUS
(E) Ivfw & 2w T8

RFcopT-2023/144R

i
#

5

:
!
|
g
/
™ ﬁ’g i ol o

i T

70,

=

4
I iyl &-

§ W

1%

o

u,,gi |

3

4N mﬁﬂﬁ:aﬂﬁiﬁﬁ'ﬁﬁ!ﬂﬁ
afgrn fm A s T 81

(A) B Fm A

(B) =T FHTR F I A

(C) = fas

(D) e & & O @ A

(E) T A 8 7 7

1906 § omifen i TR SEE
{Hﬂqﬁnﬁﬂ}%%ﬁﬂﬁmﬂmt
fu T 1 UG A R T T @
(A) o Fe TiES

(@) Uo 3o HH

(C) T AR

(D) Toiw § 4 TF | WS

(E) e A & = e

o dom ¥ e wwdm Tl (SR,
frms % Yomam, FEwR RO STAEE
e B e UEl) B US auEi e
TE T T A1) 3HEE A

(A) TETH e

(B) TG W HEEA

(C) W= WoEE HigeH

(D) Twe A & ow & e

(E) 29w & & =rf

. W FEEE Hw % an § Prefaimm 4 9

WA wU T T e

(A) 34 1921 § merem Tidt = fewm =
Ferat e =m)

(B) Si-dm wiz % wnw s 3 smEwEm
A | T wi T @)

(C) "=t 3 9 See YHE HEEEE 9
wvE fig Fafies 8§ B

(D) 70w & # 7% 9 fim
(E) =ofe & & = 7
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74. Which one of the following was a journal
brought out by Abul Kalam Azad?

(AY Zamindar Itgl;]“'
AB) The Comrade BED!
HC) Al-Hilal

\/fﬁ} Muore than one of the above
{E} MNomne of the above

75. How did the study of history help in creating
a feeling of nationalism in India towards
the end of the 19th century?

{A) By urging people to struggle and change
the miserable conditions of life under
the British rule

(B) By reinterpreting history and refiting
the British portrayal of Indians os
backward, primitive and incapable of
governing themselves

() By writing about India’s glorious past
and urging people to take pride in their
achievements

,u,{é} Moaore than one of the above

(E) Mone of the above

76. Which of the following statements are
mot correct regarding the Nen-Cooperation
Movement in the towns?

1. Only the upper caste and the rich took

part in the movement.

2. The council clections were hoycotted
even by the Justice Party of Madras,

1. Thousands of students left government-
controlled schools, headmasters and
teachers resigned and lawyers gave up
their practice.

1 and 2 only

(BY 1and 3 only »

(C) 2 and 3 only ¥

(D) More than one of the above

(E) None of the above

0L FH/CC/PT-2023/144-B 4

f

77. “A Banyasi who came to that district afie
a spell as an indentured labourer in Fijj,
carrying a copy of Tulsides Ramayvana on
his back from which he would recile verses

to rural audience.,” The peasant leader
referred to here is

+[AT Baba Ram Chandra
(B} Jhinguri Singh
(C1 Yadunandan Sharma
(D} More than one of the above
(E}) Mone of the above
78. Who was the founder of All India Harijan
Sangh in 19327
Dr. B. R. Ambedkar

(B) Jagjivan Ram
\_#C) Mahatma Gandhi

() More than one of the above
(E} None of the above

79, On Febroary 20, 1947, Prime Minister Attlee

announced the British Government’s decision
to withdraw from India latest by

AT June 1948

(B) August 1947

(C) January 1948

(D} More than one of the above
(E} MNone of the above

Bl Who established Swaraj Dal in Bihar?
(A) Bankim Chandra Mitra
(B) Shri Krishna Singh
AC) Ramlal Shah
(I} More than one of the above
(E) Mone of the above

[ Contd
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(A) BT T F i e
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(®) ¥hewm F pEien w0 o s
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WA Y Faed % e O fafm owe o=
W FE
(C) WA ¥ e S F A § frew
i =it & Teh el w o W W
HEIR T
(D) T A | T H SAEw
(®) 7w &3 2 7
mﬁﬁﬂmm#MMHmﬁmﬁmﬁ
B -8 w87
| wem § ¥aw o= Wi o endd 3
o T
- mﬁwﬁﬁqﬂwﬁﬂ?ﬁm*
AT w1 e
3, mﬁmﬂﬁamﬂﬁﬂﬂﬁ@ﬁ
o f, wuwnae s fEE 3
e 2 fn s e 3 S Y
wre 9
(A) ¥m 1 3w 2
(B) %aw 1 3
(C) am 2+ 3
(D) Toge # & v A Ao
€) Tofw 3 & #if 7

® _2023/144B

77, “wm v S FReh 4w frffen g F
¥ i W w0 % e ww @ A ol R W
et T ) T A e A, T
T i st = de g )’ e e

(A) == IW SR
(B) ¥ fire
(C) =gF=A I
(D) =g § 4 wh B Afuw
(E) =i # & o T8

78, sife $fgm e T T 1932 §
7 &t é o7
(A) = dte Wme FEAEF
(B) Wiraa U
(C) wEre T
(D) 374% # 3 == 7 witw
(E) 37w & @ =i 7

79. 20 wEl, 1947 F TUEEET TEE 3 WTE W
faftw W = %" o 99E o S smo
= 7

(A) 5T 1948

(B) 20T 1947

(C) == 1948

(D) 3% & A 75 A s

(E) 7% § % =
80, wv= @ v faen A R 4 6

(A) ofm =g fim

(B) A g fim

(C) T T

(D) s O & v W sl

(E) T4 & & %14 791
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Bl. Who among the following made an offer to

Humayun that he would surrender Bihar
and pay an annual tribute of 10 lakh dinars:

84. Who was the author of Maharma Gangy
and Bihar, Some Reminizcences 7

if he was allowed io retain Bengal? = {A) Dr. Rajcndra Prasad
(A) Bahadur Shah Ej_:'::-' (R) 1. P. Narayan
V@{ Sher Khan f:ﬂt: V{Ej' Karpoori Thakur
(C) Bairam Khan :.-.—;" :‘:—: (D) More than one of the above

(D) More than one of the above

(B} Mone of the ahove

82. The Vikramshila University was established..

(E) None of the above

__85. Which is the oldest church in Bihar?

=AY Padri Ki Haveli

by 5

€

(A) Gopala i

\jﬁ‘}' Dharmapala @
(Cy Devapala 1

(I} More than one of the above

{E)} Mone of the above

4 il

83. Who i;ml:mg the following was the firsts 1

L]

Governor of Bikar?

(B} Luke's Church
(C) Stephen's Church
o (D) More than one of the above
(E) Mone of the above
______ﬂ?ﬁ- The late actor Kumudlal Ganguly, salso

known by his stage name Ashok Kumar,
was born in which of the following cities

ux;'" Sir Maurice Gamier Hallett E";:‘
(B) Sir James David Sifton ::
%
(C) Sir Hogh Dow
(D) Moare than one of the above
(E) Wone of the above
02 FH/ICC/PT-2023/144-B 2

;-7- of Bihar?
() Patna
Z'} (B) Munger
T V(ﬁ] Bhagalpur
{IM} More than one of the above
(E) MNone of the above
6 [ Conta.
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87. In ancient times, the area to the south of
the Ganga was known as

\_Vd Anarta
(B) Takshashila
{C) Chela
(D) More than one of the above
(E}) MNone of the above
88. When did the use of iron begin in Indian
subcontinent?
(A) Around 9000 years ago
(B} Around 12000 vears ago
(C) Around 6000 yvears ago
(D) More than ore of the above
\/EE} None of the above
89. According to the rock inscription in

Sanskrit, composed around second century
CE, Sudarshan Lake, an arificial reservoir,

was repaired by

(A) Harsha e

(B) Kanishka Rt =]
Rudradaman

ore than one of the above
w/:nn: of the above "
00, The temple of Deogarh near Jhansi and the

sculptures in the temple sl Garhwa near
Allahabad are the impontant remains of the

LAY Maurva ar
'\W Ciupta art
{C) Rashtrakuta art
(D) More than one of the above
(E) Mone of the above

02 FH/CC/PT-2023/144-B

28

91. In which of the following battles are the mgj,
opponents med correctly stated?
({A) Barle of Haldighati—Maharana Pratzp

and Akbar

(B) First Battle of Panipat—Babur and
_lbrahim Liodi
Second Battle of Panipat—Tipu Sultan
and Marathas

(D) More than one of the above
(E)} Mone of the above

92. During the Delhi Sultanate, the designaiion
‘Mugaddam or Chaudhari® was used for
(A) village headman

revenue officials
(C) wvillage accountant
(D) More than one of the above
(E) None of the above

03, Tubagar-i-Akbari, which has been sometimes
considered more reliable than Abul Fazi's
Akbarnama, was written by
{A) Gulbadan Begum
(B) Mizamuddin Ahmad

€) Abdul Hamid Lahori
(D} More than one of the above

(E} Mone of the above

94. Who among the following famous
rulers founded a suburban township of
Nagalapuram, near Vijayanagara, after hE
mother’s name?

(A) Krishnadevaraya
(B) Harihara
(C) Bukka
More than one of the above
(E} None of the above

[ Comd
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(A) WG 9000 7§ 5
(B) W 12000 T4 55
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(E) T # # Frf 7

w, Tl T W e R s % R

% agEn, g #fi|, v FEm wewm, 6
woy Fe o 7

(A} w0

(B) ¥

(C) W=

(D) 7 & & ux § =
(B) wwen & § =r§ 1

0. 3t % wry dag AR Sl gEEETE & T

e e § wh gl e W & T
A §7

(&) o wen

(B) Tm Fam

(C) gz w=m

(D) 7w 3 & wr & wifw
(E) sl & & wird T

UPHICCPT_2023/144B
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.

92.

24,

ﬁnﬁiﬁhﬂﬁﬁﬁﬂ}ﬁﬁg@ﬁﬂﬁﬂﬂﬁﬁ
T et T T v

(A) TR w1 g e 3 S
(B) e 1 wam qg—a bt e S
(C) WA = fidi gE—2 Hear AR e
(D) T & 4w A T

(E) 7 # 2 wif el

e weem F ARA CYEER W =frafl’ 75
v s o fin s At

(A) i & =

(B) Tere st

(C) e % ErETHT

() T § & 7 @ S

(E) =¥F 4 & ®ig 78

- n-aret, Fr -t oE e

s B ot Rewm W = R, B
) e T

(A) T AT
(B) FromgE s
(C) e wiE el

(B (D) =i {3 on A i
KBl () i it 3 R A

W 8 o i e 3 Aol o % a9 wm

TR % T ATEe ) T I dwd
£ e £t 67

(A) FoTEEE

(B) i

(C) TH

(D} 98 & & ™% B afis
(B} 3w & 5 76
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95, In 1940, Pama Women's College was
founded by which of the following societies?

(A) Sisters of the Aposwlic Carmel praademy

\{,PEi-} Society of Jesus =

(C) Irish Christian Brothers

98. In 1940, Vinoba Bhave started individuy
Satyagraha from
{A) Punnapra-Vayalar, Kerala

= U‘Bj Nadiad in Kheda district, Gujarat

4= (C) Pavnar, Maharashtra

(D) More than one of the above

(D) More than one of the abave i e

(E) None of the sbave

96. Who among the following hesded the two
Boundary Commissions set up to delineste
the international frontiers between India and
Pakistan in 19477 .

(E) None of the above

_':H_ The Congress took a critical stand over the
Montford Reforms in 1918, which led to
break up with the old moderste rempants

{Sapru, Jayakar and Chintamani) whe formed
the

wes 1.'“‘1 Indian Mational Liberal Federation

\y(( Cyril Radeliffe

{B) A.P. Moon

140 !IEI -‘:ihrl- |.'": phi

(C) A. V. Alexander
{2} More than one of the above

(E) ™one of the above

97. Whe introduced the system of Mahahwari®
Sertlement in Bengal?

(A) Lord Hastings

g

{(B) Lord Cornwallis

ch/ Holt Mackenzie ey

(D} More than one of the above
(E) Wone of the above

02 FH/ICC/PT-2023/144-B

|
7

¢
I

(B} Servantz of India Society
(C) Swaraj Party

(I} More than one of the above
=+ (B} MNone of the above

which of the following?
I.  To establish a national government

.- 2 Towork out a constitutional arrangemert
for the transfer of power

3. To work out the details of Jinnah's

# e demand for Pakistan
=’ (A) 3 only
bl ) 1 oaly

C) 2 only

(D) More than one of the shove
(E) None of the above

30 [ Comt?
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101, The first *floating solar power plant’ has been
built at which place in Bihar?

(A) Kadirabad, Darbhanga
\}E’j Dilbarpur, Darbhanga

(C) Jamalpur, Darbhanga

{D) More than one of the above

(E) MNone of the above

102. According to the Economic Survey for the
year 2019-2020, which district has lowest
per capita income?

(A) Sitamarhi
B) Sheohar
(C) Araria
(D) More than one of the above
{(E)} None of the above
103. According to the NITI Aayog SDG Report

for the year 2020-2021, how much did the
State of Bihar score?

(A) 52 out of 100
_AB) 22 out of 100
(C) 35 out of 100
(D) More than one of the above
(E} Neone of the above

02 FH/CC/PT-2023/144-B

104. Which sport has been included in g
Khelo India Women's Tourmament for the
first time?

(A} Archery
LCB{’ Cricket

(C) Track Cyeling

(D) More than one of the above

{E} None of the above

105. Which of the following has been awarded
the Geographical Indication (GI) Tag in
August 20227

(A} Mithila Makhana
(B) Applique (Khatwa) Work of Bihar
(C) Sikki Grass Products of Bihar
.\}pj More than one of the above
EsE

(E) None of the above %&E

106, Which of the following has been added 1o
the UNESCO World Heritage List in 20217

(A) Archacological Site of Nalanda
Mahavihara at Nalanda

(B) Astronomical Observatory at the Lang!
Singh College

(C) Mahabodhi Temple Complex at Bodh
Gaya

(D) More than one of the above

\/ga'} None of the above
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(A) TR, Ty
(B) FEERL, T
(C) TG, T
(D) THT B G s
(E) 395 5 8 w7
R o
(A) HRETEE
(B) e
(C) 3w
(D) e # & v e

(E) 3wdes A & g =

103, 4 20202021 % Fory A s o Fo e
it 3 v, g 10 o TR e
(A) 1009 52
(B) 1007 % 22
(Cy 100 %@ 35
D) v § 3 7% H AT

(E) wode & @ =1 T
WFHiCCpT_2023/144B

104, e <fm wheen iz & weeht an fem @9 H
e e T B

(A) =

(B) R

(C) % wrafm

(D) 7w A & A

(E) =oen @ & w1

105, Bt § & fe s 2022 # e
m{ﬂnmn}mﬁﬂﬂlﬁﬂmﬂi?

(A) Tfigen =

(B) forem 1 wfeer (@A) T
(Cy Toem 5 frdt e =R
(D) 394% 4 A 7% 4 #ius
(E) Fofw § & 0§ 76

106. Frafafom 4 & B =d 2022 % # faa
e T A Wi L

W8 py e fire =T § wiireti e
(C) = Em werdit dfe i

(D) 394w 3 3w & wfiw

(E) =wjw & & =i i

a3
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107. Inthe year 2020, Bihar gained the _____ rank
out of 36 States in the Ease of Doing
Business, awarded by Business Reforms
Action Plan (BRAF).

xw 25th =
B) 23rd
(C) 24th
(D) More than one of the above

i

"

HT
[T

(E) None of the abave ==

by Chief Minister Nitish Kumar m!'.:‘ in November 2022 with field videography

November 28, 2022 st which place?
Bodh Gaya

(B} Lakhisarai

(C) Rajgir

(D) More than one of the above

(E} Mone of the above

I‘_
109. Which of the following assoeiations/boards.

declared equal pay for men and wnmm
players in October 20227

(A) Gujaral Cricket Association
(B) Bihar Cricket Association
€3 Board of Control for Cricket in India
(D) More than one of the above
(E) Mone of the above

5

110, The urbanization of the State has h:mueﬂ"_'-‘_m

very rapidly in the last ten vears, Accordings

-! Foaytt

m—e

J ‘M:E‘.EIH’ '}1

J'fiuif"ll i
'-hiii Il

111. Which of the following Union Ministries
recently launched the YUVA 2.0 Scheme
in 20227

(A) AYUSH Mantralay

== (B) Hecalth and Family Welfare Ministry
ol € Education Ministry

(I} More than one of the above
(E) MNone of the above

I.JL The Ministry of Home Affairs has completed
108, Ganga Jal Aapurti Yojana was inwgmtﬁﬂ_ i & iry P

the Mother Tongue Survey of India (MTSI)

of Ihe country™s how many languages?
AT 576
(B) 40
) 233
(L) More than one of the above
(E) None of the above

- Which of the following commitiees
submitted a report on gas  pricing,
recommending  complete pricing  freedom
from January 1, 20267
(A} P. K. Mohanty Committce
(B) Anm Goel Committee

Kirit Parikh Committec
(D) More than one of the above
(E) None of the above

k

to the 2011 Census, the level of urbanizatio at=114. Which of the following cities was mar

in Bihar was just

T

percent, which has 5|

"

conferred with Five-star garbage-Tree ity

h:remd 0 ____ percent at present. "*—:-_: rank according 1o Swachh Survekshan, 20227
(A) 144, 155 T:Lv_"j (A) Navi Mumbai

BT 113, 153 A (B) Sumat
© 122,131 1% et Bhopal

(D) More than one of the abgye
(E) Wone of the above

02 FH/CCTFPT-2023/144-B 34

{D} More than one of the above
(E) None of the sbove

[ Contd
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115, The Prime Minister inaugurated the first
greenfield airport ‘Denyi Polo Airport’ in
which of the following loeations?

(A) Dibrugarh
‘gﬂ‘} Dholka
(C) Ttanagar
(D) More than one of the above

(E) MNone of the above

116. Which animal has been approved as a food
animal by the Food Safety and Standards

Authority of India (FSSAI in November
20227

(A) Himalayan tahr
(B) Himalayan yak
dﬂ‘.{, Mountain goat
(D) More than one of the above

(E}) Mone of the above
%

A
117.| India’s first floating financial literacy camp

was organized recently by India Post
Payments Bank in which of the following
locations?

(A) Kerala
(B) Srinagar

Andaman Islands
(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B 16

118, The President of India inaugurated ‘PARAM
KAMRUPA" Supercomputer facility ar
which of the following IITs?

(&Y Guwahati
(B} Kharagpur
(C) Bombay
(D) More than ane of the above
(E} MNone of the above

119. In the 90th Indian Air Force Day, celebrated
on Sth October, 2022, an hour-long air

display of eighty aircrafls was camried out
over which of the following locations?

(A) Sukhma Lake, Chandigarh
(B} Gateway of India, Mumbai
(C)} Dal Lake, Jammu and Kazhmir

(D} More than one of the above

Vlél None of the above

120. Which month of the year is celchrated as
Rashiriya Poshan Maah or National Nutrition
Month under the Poshan Abhiyaan of the
Government of India?

(A July
(B) May

\/ﬁ_:l/‘ September

(D} More than one of the sbove

(E) None of the above

[ Contd.
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a7
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(A) e
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(A) e

(B) =
(C) S
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121. What is the name of recently launched final
module of China's Tiangong Space Station?

(A) Mengtian
(B) Tianhe

125. Which of the following laboratories claimed
a historic nuclear fusion breakthrough g
December 20227

o e L{AT Los Alamos Mational Laboratory

.\}E} Wentian s

(D) More than one of the above
(E)} Mone of the above

122. Which of the following is the world's lnrgcr't."
voleano erapted for the first time in 38 years?

) Haleakala
(B} Mount 5t. Helens

\J(f} Mauna Loa -

(D} More than one of the above -

- & [B) Lawrence Livermore MNational
Laboratory

=

(C) Oak Ridge National Laboratory

i R

(D} More than one of the shove

{E) None of the above

_126. Which of the following iz Collins
Dictionary"s word of the vear 20227

(E} None of the above " &= (A) Lawfare
E:Erf_t:
123. Who among the following recently remehui;_i% t,fﬁ’f Permacrisis

the 2022 Booker Prize for his mﬂg:’} :

The Seven Moons of Maali Almeida 7 :;zﬁ (C) Carolean

(A) Shehan Karunatilaka |7 () More than one of the shirve
\j,af‘ Michael Ondasatje

(E} None of the above
(C) Pradecp Mathew
() More than one of the above =7

i =

Week, 20227

(B) Women in Space
(C) Satellites Improve Life
(D) More than one of the above

[ 127, Which of the following countries,
(E} MNone of the above b

T
b ||| '|!|

along with
sencgal, lavnched the International Drought

- Resilience Allian .
P c¢ during COP27 7
124. What was the theme of the World Epﬂ;ﬂlﬁ" e = ng

|
il ;
T Spain
==

WA) Space and Sustainability

(8) Iraly
(C) Germany

(D) More than ene of the above

(E) MNone of the above

(E} MNone of the above

02FH/CC/PT-2023/144-B 4
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128. The Embassy of which country applied for
a Gl Tag for ‘Nihonshu' for the first time
in India?

(A) Scuth Korea
(B) China
6
(D} More than one of the ahove
(E} MNone of the above
129. Which of the following space agencies

announced that it had successfully used
steam 1o propel its EQUULEUS spacecraft?

(A) JTAXA

Bt
(B) NASA E5E
(C) SUPARCOD

(D) More than one of the above

\}Eq’ None of the above

130. What is the name of Tesla humanoid rohot
launched in October 20227

(A) Pepper

_\/{ﬁ} Optimus

(C) Atlas
(D) More than one of the above

(E) Monc of the above

02/FH/CC/PT-2023/144-B 40
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131. Which of the following States of India
borders with the maximum number of

districts in Bihar?
(AT West Bengal :-:'
} Uttar Pradesh
(C) Jharkhand
(D) More than one of the above
(E) None of the above

132, Which of the following is the last railway
station of Bihar in the train route from
Bhagalpur towards Mirza Cheuki?

(A) Kahalgaon Railway Station
L_(B{J Pirpainti Railway Station
{(C) Ammapali Railway Station
(D} More than one of the above
(E) None of the above
133. With reference to the mineral production
in Bihar, consider the following statements :

. Rohtas has the highest deposit of
pyrites,

2. Limestone is  found in Kaimur

(Bhabhua), Munger (Monghyr) and
Rohtas districts.

3. Gold deposits arc found in Jamui
district.

Which of the statements Biven above isfare

comect?

AT 1and 3 only

(B} 3 only
(C) 1and2 only

(D) More than one of the above
(E} None of the aboye
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134, Phalgu, a sacred river flowing in Bihar,
is formed by the confluence of which of
the following rivers?

JA{ Mohane and Lilajan rivers
(B) Lilajan and Son rivers
(C) Son and Mohana rivers
(D} More than one of the above
(E} None of the above

b .I['""r;, .

A

BT,
g

135, In Bihar, tea gardens were established for THE
first time in which of the following places?™

(A} Supanl

(B).-Thakurganj

{C) Bahadurganj

(¥} More than one of the sbove
(E) None of the above

136, Choose the correct order of the followin ng=

4 A

138. In the end of its FI'IGIJI'IN.I!'Iﬂuﬁ ME}'
Attock, the Indus River is joined by wh
river from Afghanistan?

) Helmand River
(B) Amu Darya

- vecj.’ Kabul River
= (D) More than one of the aboye
—._ (E} None of the above
§ !39 Which one of the Following is the well
publicised wildlife campaign in (he worlg
Y launched in 19737
(A) Sunderbans Project

} Project Tiger
(C) Lion Project
(D} More than one of the above
(E) None of the above
=140. Which of the following statemenis is e

about troposphere?
‘_{A?Its average height is 13 km.

(B} Itis the topmost layer of the atmosphere.

'l-:h

i ~_;:

districts of Bihar as per the ascending decadil
lation growth (2001-20113. =
‘KKishanganj < Madhepura < Siwan .
(B) Siwan < Kishanganj < Madhepura
(C) Madhepura < Kishanganj < Siwan

(D) More than onc of the above

{(E) Mone of the above

it
da
I'I.I

ot Yhud! i.ih' -;Q'F 4

(C) The temperature at this layer increases
with the height.

(D) More than one of the above

(E) None of the ahove

141. The southemn continent broken from Pangaea

is called

(A) Pacific Ocean

(B) Laurasia

agm—bued industries in Bihar?
A} Sugarcanc industry

(B} Cereal-based indusiry

(C) Pulses industry

(D) More than one of the above

(E) None of the above

0 FH/CC/PT-2023/144-R 4

A4C) Gondwanaland

(D) More than one of the above
(E) None of the above
42. The Arctic region and the Antarcika
continent are situated near
(A) the Amaron Basin
“(B) the Sahara Desert

) the North and South Pales
(D) More than one of the above
(E) None of the above
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143. Which States of India have common berder
with M}’ﬂﬂmuﬁ'
(A), Manipur, Mizoram, Nagaland, Tripura
\_;B{ Arunachal Pradesh, Nagaland, Manipur,
Mizoram
(C) Arunachal Pradesh, Assam, Manipur,
Mizoram
(D) More than one of the above
(E) None of the above

144. Which one of the following is the world's
Fichest region from a marine bicdiversity
perspective, comprising 21 islands with
esluaries, beaches, forests of the nearshore
environment, seagrasses, coral reefs, salt
marshes and mangroves?

(A) , Sunderbans Biosphere Reserve
\yB{ Gulf of Mannar Biosphere Reserve

(C) MWanda Devi Biosphere Reserve

(D) More than cne of the above

(E) None of the above

143. In which type of climatic region do Uttar
Pradesh and Bihar fall as per Képpen's
classification scheme?

(A) Dfe

(B) Cweg mug

{ A

D) More than one of the ahove
(E) None of the above

146, India’s territorial limit extends towards the
sed up W how meny nautical mileskm from
the coast?

(A} 10 nautical miles (about 19.9 km)

(B) 16 nautical miles (about 25.9 km)
_KC) 12 nautical miles (about 21.9 )

(D) More than one of the above

(E} Mone of the above

02/ FH/CC/PT-2023/144-B

147. Which of the following river valleyg i .
in coal reserves in India?

(A) Mahanadi River Valley
\}ﬂ] Damodar River Valley

(C) Son River Valley

(I} More than one of the above

(E} None of the above

148. Which of the following statements ;,
true about sugar industry in Indig?
{A) Uttar Pradesh is the second larges;
producer of sugar.
(B) It is a weight-losing industry,
(C) Maharashtra has emerged ag o leading
sugar producer in the country,
\_/{_ﬁ} More than one of the above
(E) None of the above

149. Towards the end of summer, thers s

pre-monsoon showers which are a comman
phenomenon in Kerala and ceastal aress of
Kamataka. Locally, they are known as

(A) Mango showers .~
(B} Blossom showers «
(C) Norwesters

L,uEDﬁ‘ More than one of the above
(E) Nonc of the above

150. ‘The atmosphere is mainly heated by the
\,ﬁﬁd long-wave terrestrial radiation e
(B) short-wave solar radiation
(C) reflected solar radiation ?:'(
wmﬂm than one of the above
(E) None of the above
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I. The phrase ‘equality be fore ll_""'" used in [
Anticle 14 of the Indian Constitution has been
bomowed from the Constifution ©

{A) Britain

(B} USA

(C) France

(D) More than one of the above |
(E} None of the above |
What was the duration in the making of |
the Indian Constitation”

(A) 1 vear 10 months &nd 11 days ’
(B) 2 vears 10 months and 3 days

(C) 2 vears |1 months and 18 days f
(D} More than one of the above
(E) None of the above

The Council of Ministers in a State is |

collectively responsible to

(A) the Chief Minister |
(B) the Govemor |
(C) the Legislative Assembly /
i[¥} More than one of the above |
{E) Wone of the sbove |

4. Consider the following statements : |
In the post-Tird Amendment era; there has
o be decentralization of
I, decision-making powers
2, system as a whole ;
3 judicial powers
4. administrative powers
Which of the above statements are corect?
(A) 1,2 and 3 only
{B) 1, 2 and 4 only /
(Ch 2, 3 and 4 only |
(D More than one of the above
(E) None of the above

IZFHICC/PT-2023/144-A
2

5. The representation in  the Rajya Sabha

mcludes
(A) members directly elected by citizens

(B) members indirectly elected by citizens
through their representatives

(C) members nominated by the President
of India

(D) More than one of the above

(E) None of the above

6. Which of the following is concerned with
the Supreme Court of India?

(A} Appellate jurisdiction

(B} Ornginal jurisdiction

(C} Collegium system

(D) More than one of the above

(E)} Mone of the above

The minimum age for contesting elections
to the Panchayati Raj Institutions should be

how many years according to the 7ird
Constitutional Amendment Act?

{A) 21 years
(B) 25 years

(C) 18 years

(D} More than one of the above

(E} None of the above
[ Contd,
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Forum Wi
district if it deems B "
One of the mem

it Forum cniertains  the

complaints where the value of goods I
es does Mol exceed Mupeet

of SeTvic |
fifty lakhs.
(|| Maore than one of the above |
{E] None of the above " ' "
0. At what level does a Paschayst Samiti

operate a Panchayati Raj structure?
(&} Distret hevel

(B) Gram Panchayat level

(C) Block-level body

iL}) More than one of the sbove
(E} Mone of the above

1. Which one of
& the first

development”?

the Tollowing wys established
Frogramme  gf Cammumnity

(A) National Extensigy Service

(B) Integrted
Programme

R
ural D‘“"r']ﬂpmm

(€} Cooperaticn Movemeny

(D) More than one of the oy
E

(£} MNone of the aboye

FRCCPT-20231 440

L

o v 4 fEn W

e Tyt A

(.Y T mﬂ[lﬁ
5 4 wiew

T_‘]l. Which of the following are the objectives of
the S3EZ Act, 20057

. Cenemtion  of  additicnal

achivity

LLInmIC

o R

Promotion of exports of goods and

RETVICES

Creation of emplovment

(A)
(B)
()
(o)
(E}

1.2 and 3

2 and 3 only

1 and 3 only

More than one of the above
Mone of the above

1. What is the policy measure adopted by the

Government of lndia to improve the system

of agricultural marketing?
(A} Minimum Support Price (MSP)
(B) Maimenance of Buffer Stock
{C) Public Distribution System (PDS)
([} More than one of the above
{E} None of the above
13, Which committee suggested the cnactment
of the Competition Act, 20017
{A) Rangarajan Commitice

(B) §.V.S. Raghavan Committes

(L} VYyay Kelkar Committee
(D) More than one of the above
(E) None of the above
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. 17, -
[ with ListAl In” which budger gig
Lin={T announce the Liberal

gist] | Onion production D e
(A} Union Budget, 19911992

(B} Unign Budger, 1997194,
(C} Union Budget, 19931494

14, Match List- _i'h: Finance Mllﬂjit-e
ta ;

a. Grey ﬂ‘-"“”m_'p 1. Tomalo and meat

b. Pink Revokutif Fmdu;tiﬂn

ion of ¢ggs
. a3 DoaEeD
lufpon
c. Silver ?-ﬂ""f'lf‘ . Fenilizers (D) More than gne of the abgye
d. Red Revolution 'd (E) None of the ahoye
(A)a & & 18, Wi
g 1 3 ¢ -:’Iucf of the following  were goals of
®a b ¢ d © Five-Year Plans?
7 1 4 2 '+ Growth
& a b . d P Mﬂdtmimljun
| 4 2 3 3. Self-reliance
4 Literature

(D) More than oac of the above
(A) 1. 3 and 4 only

(E) None of the above
(B) 2,3 and 4 only

15. Which of the following Five-Year Plans was (C) 1,2 and 4 only
focussed en Human Resource Development” (D} More than one of the above
{A) Fesl (E} None of the above
(B} Third
el i 19. Which organization carries out the survey for
iyt determining the poverty line?”
(D) More than one of the above (A} NSSO
(E} Nane of the abaye (B) NITI Aayog
- C) RBI
16, Which . [
rl&»::tr'r'l.'uaujlir1r ul:: r:I”ml.m! Sates of India (D) Muore than one of the above
Investmens (DI Im; “F‘]"’[Eﬂ Direct (E) None of the above
to Sepiember 2337 during April | _ : i
A 720, The trade balance of India [merchandise 4
I L'_-’ ices) for December 2022 (provisional) is
. sorvices) i
(B} Tripurs A) (-) 1050 USD billion
(D) Maore thap, ':“'"-‘{lfh () (1 108 USD billion
' by bove
ﬂIr’FH.'L'['.-]:T_EUH;uL _ (E) None of the above
! [ Comntd.



14, -1 3 -1l @ ghfee A
Aet-11

| R F I

s gt Al O IR
, -1, Mi ¥ I

4 mAFm 4. Fs ()

(Aya B E
- 4 1 ]

[ B I =

(B) a

-_—
i

bk €
I T

) TE A A & 3w

(E) 7w 3 @ F 78
15,miiﬁ?—iﬂﬁﬂﬂﬂmu LIEE

wen fawm T #FEn A

[A) T

(B) T

(C) vam

(D) 7o A @ w% A A

(E) 7o & A =k 7
16. wra % Foefftan 8 @ R oy 3 sha @

for 2022 % #w T=m gam fadeh fan
(The Flo w1ge ), (A & wu & R FE?

() Wl

(B) Frgn

(€) T

(D) I@Eﬂiﬁ‘ﬁﬂh
(Ey T 8 B %0

[/FHCC/PT-2023/1444

d

)
(C) d
3

17, fm e & frm o 3 i Bl o g
et ) st 17

(A) R T, 9911901
T CLER ECR 1992-1991
() o T, 19931994
(D) 3efm & & TF A afirE
(E) '_{q'-tiﬂ-‘.iﬂm#ﬁ

1
2.
3. A
4, wiEd
(A) ¥4 1, 3 s 4
(B) ¥=a 2,3 dnd
(C) ¥=w 1,240 4
(D) 9T # A TF A T
_(E) Todw 8 @ % Al
1o, Tivd A Pt 373 3 i oA A
e o R
(&) We o e 3o
(B) A s
{C) #AMe dle H§e
(D) e & @ UF B v
(E) 794 & & w1§ 77
0. W wENR wgea (we sl dad)
P 2022 (s & form B
(A) () 1050 wra swiER) 2
(B) (+) 1198 e smhE) 2t
() () 1198 sma serf) gt
D) T A 9 v | wfes
(E) =0 & 4 27§ f

[ Cerered



21, At what percentage has Bihar registerey
the lowest Female Workforce Participation
Rate for the year 2020-20217
(A) 4% in rural and 6:5% in urban areas

 fB) 6% in rural and B-1% in urban areas
L

O % in rural and 919 i urban arcas
o) .

(D) More than one of the ahoys

ME] HDTE of the abayve

-
él’lﬂ: MEX imum number of pay ndustries i5
in which districy?

fa) Darbhiang,

(B) Pumig

25,

+ According 1o the Rijar

{E.} NUM of tha aboyve

Economic gy, £
was the ratz of growth
of Gross Stae Domestic Prodie [

(2021-2022), what

LSDE of
Bihar in 202020219

(A) 3%

(B) 24,

(C) 2-5%

(D) More than one of the aboye

(E) None of the above

Which one of the following is comect for
Bihar economy?

(A) The growth rate is one of the lowes
m India at 2-5%.

(B)
C)

Bihar produces mostly primary goods

The occupational structure of the
economy is stagnant from above,

(D)
(E)

More than one of the above

None of the above

| Coned



M, & 2020-2022 # T wad +9 qfeen Fidaq
wnfred = Feed wfiem o faem 8 2 & nd?

(A) 4%, T & A i 6-5% TRl A A
(B) 6% T 5 8§ ofn 8-1% wEh &9 8
(C) 7% Tef & 8 ale 910 D A= T
(D) I9F 8 4 7% 3 ¥iF

() T & & v

22, iuwan # 3am fee e A R
(A) T
(B) qivrm
(€) P
(D) 7w A4 TE 8 A

(E) 7o & & =i 7

MR RT3/ 1 44 A

Ijaﬁ:ﬂﬂﬁm@mwwﬂ

5y wm, 2021 W FEOW R Ew
wdu.s ¥ s, faEm & fom T 9 S

sy GUT A1 ) AR 2015-2016 8 A
wowe 20202028 W R
(A) 1062, 1090

(B) 1040, 1070

m,.1 030, 1050

(D) 39w A T §
(E) 3w & A #1§ 78

 faem afiliE wAsm (2021-2022) F AT,

2020-2021 & fER % ¥ T g TR
(Wfhe wHe e dio) 1 9fa = ferht 1

(A) 3%

(B) 2%

(€)_2:5%

(D) v A A wE B wiw
(E) 39w 8 & 71 7

28, F=fafan 8 9 #w-m oF faen f sdsEmn

#m:ﬁﬂnﬂ 1

(A v drR M rmadam R
2:5% R

(By Vaem 3§ sifusa sofis a3 =1 9=
BT B

(C) wd=rmmn w1 =raefes ot 30 A
fEem 4

D) I A H B wfiny
(E) 7w & # =

I d “owirid



26. The Swadeshi and Boycott were adopied as
the methods of sruggle for the first time
during the

{A)} visit of the Simon Commission to India
(B) Partition of Bengal

(C) Home Rule Movement

(D) More than one of the above

{E) None of the above

At the Calcutta Session of the Indian National
Congress (INC) held in 1906, the Flag of
Swaraj for India was unfurled by

{A) A. O. Hume

27,

{B) Dadabhai Nacroji
(C) G. K. Gokhale |
(D) More than one of the above
(E) None of the above

During the freedom struggle, a parallel
movement launched in the Indjan States (in
the States ruled by the Indigy rulers such as
Kashmir, Nizam's Hyderabad, Travancore
elc.) was I
(A) Siale People’s Movement

(B} Praps Mands) Movemeny

(C) Swaraj Movemen;

() More than one of the abay

(E} MNone of the abaye )

Which of the r“‘““""'jﬂ[z "

28.

25,
Ilil:m:m; rg

the Indian freedom Mruggle i earding

(A) Gandhiji withy . oL Correcy?
Cooperatj M the a
Chauri L o ™ i

ur-Chayry h“:idr.m 1o the

(B) Gandhiji gay, his ﬁn-:

5 *Pecch al Banar, |, O publie

{C) Mahaima Gﬁndh ’""“Ersily
year 192 e in th

(D) More than gn, of

(E} None of the 4 " 2oy

O2FHICCPT-20231144 '

B

30, Wh;
h“hll::h one of he followin '
WEN out by Apyt K s
(A) The Comragly - e
(B) Al-Hilg
(C) Zaminggy

(D) More than one of the aboye
(E) None of the above

¥ help in cppspi
of nationalism i i
N Indig 1ow
the end of the |oy century? fowards
(A) By reinterpreting histo
ol B'_!T““E history ang refuting

\ WSh  portrayal of Indians as

ackward, primitive angd incapable of
Eoverning themselves
By writing about India’s glorious past
and urging people to take pride in their
achievements
By urging people 1o struggle and change
the miserable conditions of life under
the British rule
(I3} More than one of the above

{E} None of the above

32. Which of the following statements are
mor correct regarding the Non-Cooperation
Movement in the towns?

l. Onlv the upper caste and the rich took
parl in the movement.

The council elections were boycotted

even by the Justice Party of Madras.

3.  Thousands of students left government-
conirolled scheols, headmasiers and
teachers resigned and [awyers gave up

their practice.
(A) | and 3 only
(B} 2 and 3 only
(C} I and 2 only
(D} More than one of the above
{E} None of the above

(B)

iy’

ol

| o



1. R W % A % s 8 ssf 4 30, M@ FA AR & g e gl ® AW

pen HF d3 Fuam o 47 | a7 w?
(A) WG FHE e e (A) & FfEtE
g | (B W
@) T s | e
y: ! i
‘ﬁﬁﬁ;ﬂ‘ " ' ::;1 ik v A
AT : b
1D1ﬂ1'if?ﬁ.;_£qﬁ (E) Toie 9 @ F1f T _ _

() TEAA® 31, 104l T % o A R B AT 3
=t|%ﬁwmm$ﬁﬁ ﬁwﬁwﬂw:utﬂw
Hm,qqqqmtmuhﬁmﬁm% 47 )

2 e W T FEE TW e T {Mm,ﬁ,aqmmﬁ g T
|A) Te #He T el 1 faw, mﬁ‘ﬁyg ;TTH';
B} i i ﬁimﬁ%mn i F

¢ Fe e TR s -~
ol . i = (B} I # Iil!ﬂﬂlﬂ| E!F‘ﬁ'_fi =1 TR
s i v Al & s e o
(E) 7% 8 A %1 ] v ik
g, T WIR F MR WWAm Te (S, () fabw TR & wEn TEm R W
Eym ¥ Yomn, AR @ W wwEm w3 e e F o @t 8 we
e g0 e ) § T R SR S
v T T | R AE | (D) 3w 8 A uE W i
(A) TR IR A (E) T A @
(B} T3 9L WA 32, =t B smwgdm wEe F way 8 Pt |
(C) TR A= 1 wA -1 R wl R
(D) T9F 3 A % A Au 1. ¥eem ¥ Em = Wi i s 3
() Todon & w4 il ;
: .- : : 3. wzm A @fem ol oo off Wk
29, wrAm wawe qom ¥ oA A ekl 4 A G T
W3- T4 qE ol b :

3. waE BEl A el faae ) e W
e o, wapmaeR s et 3
gefivn & fam s adial 4 sl dfew

(A} -dm v & = ohdedl 3 smea)
WETEA W wr Tita e

(B) i 3 =ren wwen wgm e afie e ire A}
A o= Rtaoes 4 T oan (A) ¥4 | ala
() E 1921 # waren vhfy w0 LR | LR i) a.l-q_i..' 7 -“H t
T o T W (©) ¥4 | 3t 2
(D 70w @ A oF @ i

D) T § @ o B s
(Ej 794 & 8 %15 7 (E) Tofw § 8 = 79
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disirict after
_ me (o that
33, “A Sanvas wha o

Il a5 an indentured labourer in Fijs,
. "f'f a copy of Tulsidas Ramavana on
:['m-i:mi frs:m 1:l'-i|1i-|:h he would recile verses
his bac
to rural sudience.” The peasani lcader
referred to here is
{A) Thinguri Singh
(B} Yadunandan Sharma
{C) Baba Ram Chandra

(MM More than ane of the above
(E) None of the above

34, Who was the founder of All India Harijan
Sangh in 19327
(A} Jagjivan Ram
(B) Mahatma Gandhi
(C) Dr. B. R. Ambedkar

(D) More than one of the ahoye
(E} None of the above

35. On February 20, 1947, Prime Minister Attlee

sancunced the Brifjgh Governmen's decision
1 withdraw from ndiy latest by

(A) August 1947

(B January j44g
(€} June 14948

(D) More thyn “he of the aboye

(E} None of e ibove

% "
Who establicheq Swaraj [y n Bihge
(A} Shei Krishng Singh
(B} Rarm|a| Shah

') Bankim Chyng,, Mitrg

(D) Mﬂftlhmnnﬂ of the e

usz]-L-'c::rp-j-. 2023/ 4.4

{E) Nope of the

12

a7,

s,

39,

nuring the Salt Satyagraha in Bibar, |y
iddition 1 making sall, the people

10 oppose fhe EOvern
lax?

'-I"l"it
ment by opposing whick

(D) More than one of he above
(E} None of the aboye

The elected Governmen; ¢ Bihar formed

by Shri Krishna Singh resigned in Februan,
1938 for which reason?

(A} Participation in the Freedom Struggle
of India

(B) For the release of political prisoners

(C) Satyagraha against the British 3 the
call of Gandhijj

(D) More than one of the above
(E) None of the ahove

Who saved the life of Gandhiji in Bihar
during Champaran Satvagrahg?

(A} Batak Mian

(B} Hamid Ansari

(C) Ravindra Pathak

(D} More than one of the above

(E) None of the ghove

- Who led cultivators in Bihar during the

Non-Cooperation Movement?
(A) Swami Vidyanand

(B) Raj Kumar Shukla

(C) Shri Krishna Singh

(D} More than one of the above
(E} Neone of the above



v, vr we W@ Rl A oo el g
w9 R FE FE F AR RN v de

paiidriRiicu AR I TR IR s
af wefm A ®) w2 g w0 iR B
e fEd wd

(4) ¥ i
(B} Wmﬁ
1) ﬁmﬁ .
(D) T9% 9 8 v @ afis |
(E) 7% % 8 %

T e ¥ T A e 1932 § fas
B i i

(A) TR T

(B) were i)

(C) Te de wme Helzw

(D) 3% A v% B o

(E) Tvdw 8 @ =

20 well, 1947 # e v 3w @
ifm e #1 % ww awe A d
a7

(A} HTE 1947

(B) ¥l 1948 —~

(C) 44 1948

(D) 9§ & vw @ i

(E) 77 A @ f 7

. = =@ ) g faew A fama ) i

(A) o g e |
(B) TIEFT TR

() aftrm wg fom

(D) T AW
(E) 70 | # % 77
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35

B

37, % wame & A few A 2 AEs e
¥ ma-uw wEn & f5g e W w S
#14 %1 fagen {07
(A et
() fawm
(C) wera
(D) T @ & 7% @ s
(E) 394 A & #1d 7

38, o) g i g fzm fam 1 Faifem wem 3
w1938 § fFm = & 7= 2 T

(A) ST I A ¥ WA S 4 AT w
Fm

(B) TAHiTF ¥4 %1 324 F 790

(C) =hdieft g 2w % fg wrame aarstem
= wm

(D) =g & 3 wF A s

(E) I7f= % 4 5§ A

Femt o meaTR % dw e @ o
AR F= i)

(A) e it

(B) i s

(C) wEis s

(D) 3w 48 s | s

(E) 3w & 9 % )

39.

40. WEEdr HEE ¥ M fead faen & femet
s 7

(A) it e

(B) TR o v

() }.ﬁ fie

() e & @ v 8 sifirs

(E) 7o & & 5 o




to the south of | 45, |, which of the

following by
41. In ancient times, the arca E batfleq

A the mgin
the Ganga was known 85 uppnnnfnts ol correctly Stated”
) ["ﬂ".:l First Batile of Pﬂﬂipﬂi- 'Hﬂhl.ll'
(A} Takshashila Ibrahim [.od; ™
(B) Chola (H) Second Battle of Pﬂnlpq] _]'”:m Sultan
(C) Anarta and Marathag
(D) More than cne of the above (€) Battle of HﬂHf.g!‘mH——Maharana Pratas
{E) None of the above and Akbgr
o (D) More than one of the aboy
1 S - i in in Indian te
42. When did the use of iron begin (E) None of the ahoyq
™~ subcontinent?
(A} Around 12000 years ago 46. During the Delhi Sultanate, the designation
(B} Around 6000 Years ago ‘Mugaddam or Chaudhari® was used for
€} Around 9000 years ago (A) revenue officials
B) vill
(D] More than one of the aboye ® TT Sl
B (C) village headman
V&) Home.oF ks heve (D) More than one of the above
8. According 19 e rock inscription i (E) None of the above

CE, Sudarshay Lake, an artificig) Teservoir, 41. Tabagar-i-Akbari, which has been sometimes

Was repaired by considered more reliable than Abyl Fazl's
(A) Kanishia Akbarnama, was written by
(A) Nizamuddin Ahmad
) Rudradumay (B) Abdul Hamid L ahori
) Harsha (€} Gulbadan Hegum
(B) More thay One of the ghoye (D} More than one of the above
(E) None of the ahove (E} None of the above
4, ;”"‘-‘l temple oF Deagarh "C4r Jhansi and the | 48, Who among  the  following  famous
I:]'-:::::Z in :‘h:mplr: 8 Garhwa pegr rulers founded a  suburban township of
are the M pora, FeMains of the Magalapuram, near Vijayanagara, afler his
‘A) Gupta 4n mother's name?
1B} R“h‘!ﬂkmauﬂ {A) Harthara
L] Maury, an (B} Bukka

(D) More than one OF the ap, (C) Krishnadevaraya
e

(£} Mone of the aboy (D) More than one of the ahove

e T



41, TEE wE 8 oy % afEm B3 W owowo

a1

(A) ST

(B} d@ ¢

(C) A

D) T 34 &
() Tofs 8 @ # =l

42, woiE TowEdm d S | owEm 5 E et

(A) W 12000 79 03
(B) ¥/ 6000 91 g4
(C} wma: 9000 =4
(D) T A B uF A AR
(E) =9® & § %14 T

43, i YA # e A deEn ¥ e

E ﬂgﬂﬂ,ﬁﬂhﬂﬁ,ﬁgﬁﬂaﬂm,ﬂ
A & diF

(A) A

(B) @

(€) ™

(D) =7d% & 4 7% A afus

(E) T & & =1 A
u.mmtm'aiﬂumﬂfm_ammgri@#ﬂl
T Hi d & ofddl fm e # e
AaT BY

(A) TR EM

(B) TR Fel)

(Cy o F=0

(D) T 8§ o @

(E) vk A8 A
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45,

47.

44,

Pacrfforn 3 Fm @ 3 g Frfm w1
4 T Fam w2

(A) T T g W g
(H) mm&mgr—-ﬁfmﬁml .
{'li": g ®1 qE—ETT T A s
(D) T & @ 7 A AfF

(F) T @ # Fd A

.ﬁmwam‘qﬁﬂmaﬁwﬁ'j:n

s s o fm o o’

(A) T S

(B) Ta F AaER

(C) TE % FE

(D) T d § T T

(E) I7% & & 21§ 99
AaETA--sFat], T F-F W A

s A wiiw frewas s oA 2, fREE
o Toven mn @?

(A) T s

(B) R AW SR

(C) T 4y x

(D) T A B h A s

(Ey T 4 & & A

e @ o ufeg o 3 s g K AW W

s % g ArTErym Rk 39T
caltive B ARl

(A} ElTE

(B} R

() Tmnfm

(D) T § & vF 4 whew
(F) wwm d 8w

[ Cermret,




Wamen s Uollege  wns | 7 A ™

[ g ielies” i "I-'l
i lﬂ{: -:;i.;h ol the following Sucieties. ! """"FHE!rahn from 7" Vaneg Wiy g
founded By
_ (A) Nadia| N Khegy o
(A} Society of Jesus ") p W G
/ iy
~hrstian Brothers " Mabaragpy
A1 Irish Chrsts €} Punp
| - : apra I'""}'Hlar_ Kera)
(C) Sisters of the ApoRid (D) More g, e of the b,
E
(DY Mare than one of the above ) None of the abyye
II y I"li"rlf I;'rlhf .hﬂ":’ '53- :{hﬂ ED“ETEES !DD* a |:_rl|n|:a| '“‘-‘ﬁd aver
7 ; VBT the
Mifiord Rf:!hrmi 01918, which b
. Who among the following headed the two {S:“ “JP' With the gjg Moderate rempyn,
Boundary Commissions set up to delineate Ih:m' ﬂm"'ﬂndﬂ'hinmm““ Wi formed

the intemational frontiers between India and

Pakistan in JO4T? (A) Servants of India Socien

(Al A, P. Moon (B) Swaraj Party

(C) Indian National Libera| Federation
(B) A, V. Alokaader

(D) Mare than gne of the aboye
€} Cyril Radeliffe (E) Mone of the aboye

() )
R e o the above 34, The Cabiner Mission was sent 10 India foe

(£} None of he sbaove which of the following?

. To establish a national governmen:

51 Whe inLrT_u:Im;ed the ; kil —
Witem of . 2. To work out a constilytiona arrange
Settlemeny gy Bengals o Mahalwari

for the transfer of power

(A} Lorg Cormmwgy;g 1. To work out the details of Jinnah's
demand for Pakisian

(A} | only
(B} 2 only

(D) More than of the (C) 3 only
(E) N i e (I3} More than one of the above
e of the ahovye
of the above
OUFHICCRT 20234, , | (B) None
16 [ Clomial



9. 1940 B, vz wigen wpfamea R
fnferfian & @ Fam woma g ) nf WA

(A} wwmmEA i Famm
(B) st G
() ezl s 2 wivifers Fmim
Dy T § R uE A i
(E) Toge & 8 wf =
50, T 4 T 1047 B um ol TR § 9

st A, i & fo s A
Gk ks SRETIR T

(A) 2o dlo
(B} T dle HEFAZ
() fefra =i
rDT?ﬂ'ﬁ?ﬁiﬁﬁﬂH‘lﬁ
(E) Todw A # %1% 7]
s1. fema W A A @ e
s HF
(A) @E FHfE

(B w2 bR

(C) i s

(D) T A @ v A e
(Ey oo & & o T8
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52, w-mﬂﬁ#mqraiwﬁmwmmq
amw A f
(A) mg P & AfEam, T
(B) AT, TR
(C) A,
:D}:ﬂﬁ?ﬁi&#ﬁﬁﬂﬁﬁ
() T & & #1 7

53,
vg s, Tk F P T S

:%mﬂhﬁ}gw,ﬁ#m
e

(A) WA TEF HYE F
(B) =T W
(€} e Yo fome w0 1
(D) 00w @ A i
(E) e & 0 =
54, SR e faafaftm 3 3 feF o WA
W T
|, T T HOER W R

2. W ¥ oEEAm ¥ fAU wh s
WY T F % B

3. ufeeE & fm fien @ oah F 2 W
wm wr & b

(A) %A 1

(B) ¥4 2

(CYy 9494 3

() Tode 0 @ T A i
(£ el & 9w

| Confd



55. "||||.I'|n H.mﬂﬂg 'hf‘ f{\“ﬂ“lng [ﬂ!d: an ﬂﬂ::':r Iﬂ
Hurnq'l,ljl'l Ihﬂl h: wﬂurd .'il.:lrl"i-‘l'ldtr B]hlr

and pay an annual tribute of 10 lakh dinars
if he was allowed 1o retain Bengal?

(A) Sher Khan

(B) Bairam Khan

(C) Bahadur Shah

(D) More than ene of the above

(E) None of the above

The Vikramshila University was established
by

(A) Dharmapala

(B) Devapala

(C) Gopala

(D) More than one of the above

{E) None of he ahoye

3. Who among the followin

B was the firsi
Governor of Bikar?
1A} Sir James Davig Sifton

B) Sir Hugh Do
(C} Sir Maur:

58, Who was the author of Mehimg Crcamegh,
and Bikar, Some R EMIRscences 7

(A) J. P. Narayan

(B) Karpoon Thakur

(C) Dr. Rajendra Prasad

(D) More than one of the above

(E) None of the above

9. Which is the oldest church in Bihar?
(A) Luke's Church

(B) Stephen's Church

(C) Padri Ki Hayelj

(D) More than one of the above

(E} Nene of the above

60. The Ilate awlor Kumud|y]
known by

Ganguly, also
his stage name Ashok Kumar
was bom in which of the
of Bihar?

following cities

(A} Munger

(B) Bhagalpur

(C) Patna
(D) More than one of the ahoye

(E) None of the above
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61. Which of the following Union Ministries | g5, 7, Prime
- Whic

A 20 Schen
recently launched the YUVA 2.0 Seheme

in 20227

(A) Health snd Family Welfare Ministry
(B) Education Ministry

(C) AYUSH Mantralay

(D) More than one of the above

(B} MNone of the above

62. The Ministry of Home Affairs has completed
the Mother Tongue Survey of India (MTSI)
n November 2022 with field videography
of the country's how many languages?

(A) 40

(B) 233

(C} 376

(D} More than one of the above

(E} None of the aboye :
63. Which of the following  committees

submitted 2  report o gas  pricing,

recommending  complete pricing freedom

from January 1. 20267

(A} Arun Goel Committee
(B) Kirit Parikh Committee
(C) P K Mohanty Committes

DY Mare than one of the above
{E) None of the above

64, Which

D) Mo Than onE of

_ the
B} Meone gof he by, s

“I'FWEG?T—zuzsalm

20

Mimister inaugurated the First
greenflield airpont ‘Donyi Polo Airport” in
which of the following locations?

(A} Dholka
(K) IIIIJIEIEIF
(C) Dibrugarh

(L) More than one of the above

(E} None of the above

66. Which animal has beer approved as a food

6.

animal by the Food Safery and Standards

Authority of India (FSS41, In Movember
20227

(A} Himalayan vak
(B) Mountain goat
(€} Himalayan tahr
(D} More than one of the aboye

(E} MNone of the above

Indha’s first floating financial leracy camp
was  organized  recently by India Post

Fayments Bank i which of the following
kications?

(A} Srinagar
(B) Anduman lslands
(C) Kerala

(2} More thap one of the above
(E} MNome of the abgve

| € o
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(01 Cruwahat?

above
(D) More than 07 i

(F} None af the above

arce Day. celebrated
an hﬂﬂf—lﬂﬂg air
carried out

jons?

§9. In the 90th i ian AiLF
on Bih October, X,

I E wis
dispiay af eighty ﬂlrﬂﬂﬁs =
over which of the following 1¢

4) Gateway of Indis, Mumbel
(B) Dal Lake, Jammu and Kashmir
(C) Sukhna Lake, Chandigarh

(D) More than one of the above

(E) Nane of the above

70. Which month of the vear is celebrated as
Rashtriya Poshan Maah or National Nutrition
Month under the Poshan Abhiyaan of the

Government of India?
(A) May
(B) September
(C) July
(13} More than one of the above

(1 None of the above

7.

4.

ITRTS ITY -:‘:.I"['m"‘.‘i T ”-"E-.-nlh Iy

|
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":th F‘il‘nn.;.: . *d |ir|1
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unlﬂﬂmfﬂl mh""’iﬂliﬂhe“
(A T e i .
) Mﬂums ey }m:
(B) -’1fialﬂ'|alnn
(C) Halﬂﬂklh
D
(D) More than gg. OF the ahyy,
(E} None of the ahoye
Who among the

The Seven Moons of Mgl dlmeida 1
(A) Michael Ondaatje

(B) Pradeep Mathew

(C) Shehan Karunatilaka

(D) More than one of the above
(E) None of the above

What was the theme of the World Space
Week, 20227

(A) Women in Space

(B) gatellites Improve Life

rainability

[_C] spa“: and Sus
¢ above

\ More than on¢ )

e .[.'lf the ah:,‘-"r'e

(D

Non y
[E} | ﬂ-li'«':"l"!
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T8 Which of the 1-“".“““3 laborataries chainyy

December 20024
(A Urence | ivermore Nasional
fébﬂhlnr}-
¥ Ok Ridee National Labaratory
) Log Alames National L abaratory

(0 More than one of the ghoye

(E) None of the ahoye

Th .
i :'rJ rI'.F"I‘l""ﬁ".- o
r ']'ﬂ - |_|..|_I
I I B o, I:'":f.h,,:h """'l'n|h_
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(E ® iy,
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Wh;
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(E} None f the gy

Vat iy e "anee of Tesh Bumangiy b
buncheg i Oclober 333

1A} Optimus

(B} Atlas

(C) Pepper

(D More than one of the shave

(E} Mone of the shove
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solar power plant’ has heey
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81, The first ‘float . Rilar!

baunilt ot which plike |

\| Dilbarpute [arbhanid

a
lE y J.!FTiﬁ-'F"T' ml'bhﬂng

() Hldil‘imd'- Darbhanga

() More than one of the above

€) Nane of the above

§. According to the Economic Survey for the
vear 2019-1020, which district has lowest

per capita income”

IA) Sheohar

(B} Arana

(C) Sitamarhi

(B} More than one of the ahoye

(E} Nome of the sboye
;:.,_.
B Aecond:
& m:umm; o the NIT) Anyog §
year 2020-202) how much did the

8, w
I{hhlr:h POt has peen in¢ huleg
el India Women' Toumname L
Firsy lime? il
(A) Crickes

(D More thag OnE of the above

{E) Mone of the abyye

85, Which of the follow

the Geographical |p
August 20229

Jlg ha"i t"'ﬂ:fﬂ u'“'m'dﬂu-

di ot i
Caom (G 51_:_' i

(A} Appligue {Khatwa) Work of Bikar
(B) Sikki Grass Products of Hihar

(€] Mithila Makhang

-

(D} More than ons of the shove

{E] None of the above

Bb. Which of the following has beer added 1o
the UNESCO Weorld Heritage List in 20221

(A} Astronomical Observatory al the Langat
Simgh College

(B} Mahabodhi Temple Complex at Bodh

Caya

(C) Archaeological Site of Nalanda

Mahayihars at Nalanda
(D} More than one of the above

(E) None of the above
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@ In the year 2020, Rihar gained the rank |
oul of 316 States in the Ease of Doing

Business, awarded by Business Reforms
Action Plan (RRAP).

(A 23rd

(By 24th

(Cy 25th i
(D) More than one of the above I-F:‘l_.‘:{
(E) None of the above (-l

BB. Ganga Jal Aapurti Yojana was inaugurated

by  Chief Minister Mitish Kumar on
MNovember 18, 2022 at which place?

{A) Lakhisarai

(B) Rajgir

(C) Bodh Gaya

(DY) More than one of the above

{E) Mone of the above

. Which of the following associations/boards
declared equal pay for men and women
players in October 20227
(A} Bihar Cricket Association
(B) Board of Control for Cricket in India
(C} Gujarat Crickel Association
(D3} More than one of the above
(k) None of the above

The urbanization of the State has increased
very rapidly in the last ten years. According
to the 2011 Census, the level of urbanization
in Bihar was just  percent, which has

increased 1o percent al present,

(A) 113, 153
By 122, 131
(C) 144, 155

(D) More than ang of the above

‘.E]‘ Nﬂﬂ! Erf“"l.l: ﬂ,bq.y.:

02/FHICCIPT-2023/144-A
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91. In the end of its mountainous journey 4
Anock. the Indus River is joined by which
river from Afghanistan”

{A) Amu Darya
(B) Kabul River
{C) Helmand River
(D) More than one of the above
(E) None of the above
92, Which one of the following is the well

publicised wildlife campaign in the world
launched in 19737

(A) Project Tiger
(B} Lion Project
{C) Sunderbans Project
(D) More than one of the above
(E}) MNone of the above
93. Which of the following statements 15 true
about troposphere?
{(A) Itisthe topmost layer of the atmosphere
(B) The temperature at this laver increase
with the height.
(C) lts average height is 13 km,
(DY More than one of the above
(E} MNone of the above
94. The southern continent broken from Panga
15 called
(A) Laurasia
(B) Gondwanaland
(C)y Pacific Ocean
(D) More than one of the above
(E} None of the above
95. The Arctic region and the
continent are situated near
(A} the Sahara Desern

(B) the Morth and South Paoles
(C) the Amazon Basin

Antarc

(D) More than one of the above
(E) None of the above
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96. Which States of India have common border | 100, Which of the following river valleys |y "
wilh Myanmiar? in coal reserves in India® N %. TEER F O
(A) Arunachal Pradesh, Magaland, Manipur, (A} Damodar River Valley it B Y
Mizoram - :
. : (A SRS
(B} Arsnachal Pradesh, Assam, Manipur, . S Bohves: Vinhiey e
f org (€ Mahanadi River Valley 18
L[] wirg,
(C) Manipur, Mizoram, Nagaland, Tripura .E'-l-' (D3 More than one of the above () i
- fu] s &
(DM More than one of the above (B} Mone of the sbove S
(E} Mane of the above (Ey T #
101. Which of the following statements |
97. Which one of the following is the world's trug about sugar industry [ﬁ India® ’ . S
richest region from a maring biodiversiy i | T . ﬁm LB
perspective, comprising 21 islands  with (A) It is a weight-losing industry, AT, C
estuaries, besches, forests of the nearshore (B} Maharashira has emerged as a leading ?Eﬁ HT' L
environment, secagrasscs, coral reefs, sait sugar producer in the country. 1)
marshes and mangroves? (C) Unar Pradesh is the second larges Lo Bt
A} Gulf of Mannar Biosphere Reserve producer of sugar. By ¥ E
(B)-Mants Dexel Hiapere Resve {D} Mose than one of the above (C) g
iC) Sunderbans Biosphere Reserve (E) None of the sbove (o) T
iT¥ More than one of the above (B TH
(Ey None of the above 102, Towards the end of summer, thers are
o8, T which r olimati A Tt pre-moenzoon shewers which are a common 98, ¥ ﬂ
: - matic region do r :
Fna:rs;: m[:rdﬂﬂk':h f“r‘llﬂ—iﬁ_“_'r:'67.'_'_'5 phenomenon in Kerala and coastal arcas of TER 7
I i Bihar fall as per Koppen Kamataka, Locally, they are known as Ay ©
classification scheme? e %
(A} Cwg (A} Blossom showers B}
(B} Aw (B) Morwesiers (cy I
(C) Dfe (C) Mango showers (o
(D) Mose than one of the above (D) More than one of the above (E)
{E) None of the above
(E} Mone of the above o5, W
99, India’s territorial limil extends 1owarnds the _ He
sea up 1o how many nautical miles/km from 103. The atmosphere is mainly heated by the (A
the coast? {A) short-wave solar radiation (B
(A) 16 nautical miles (aboul 259 km) (B) reflected solar radiation C
(B) 12 nautical miles (about 21-9 km) (€] long-wave termesirial radiation X
“WaAY ria i 5
(C) 10 nautical miles (about 199 km) e (H
(D) More than one of the above (D) More than one of the above A
(E) None of the above (E} None of the above
02FH/
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104,

105,

106,

Which of the fellowing States of India
borders with the maximum number of
districts in Bihar?

(A) Unar Pradesh

(B} Jharkhand

(€} West Bengal

(D) More than one of the above
(E} None of the above

Which of the following is the last railway
station of Bihar in the train route from
Bhagalpur towards Mirza Cheuki?

(A} Pirpainti Railway Station
iB) Ammapali Railway Station
(C} Kahalgaon Railway Station
(D} More than one of the above
(E} None of the above

With reference 1o the mineral production
i Bihar, consider the following statements -

I. Rohtas has the highest deposit of
pyriles.

2

Limestone  is

found  in Kaimur
{Bhabhua) Munger (Mongh

! ¥} and
Rohtas districts.
Gold  deposits  are found in Jamui
district,
Which of the
corect?

(A} 3 only

slalements given sbove is'arc

(B} 1 and 2 oply
(Ch | and 3 only

(D} Maore than one of the aboyve

(E) None of the ahove

OLFHICCPT-2023/144. A

1

107.

108,

109.

Phalgu, a sacred river flowing in Rihg,
is formed by the confluence of whicy
the following rivers?

{A) Lilajan and 5on rivers
(B) Sen and Mohana rivers
{C} Mohana and Lilajan rivers %:;
(D} More than one of the above

(E) Monc of the above

In Bihar, tea gardens were established for the
first time in which of the following places?

(A} Thakurgan)

(B} Bahadurganj

(C) Supaul

(D) More than one of the above
(E} None of the above

Choose the correct order of the following

districts of Bihar as per the ascending decadal
population growth (2001-2011),

(A) Siwan < Kishangan; < Madhepura
(B} Madhepura < Kishanganj < Siwan
(€} Kishanganj < Madhepura < Siwan
(D) More than one of the above

(E} None of the above

Which I'ua-:l. industry dominates among the
agro-based industries in Bihar?

(A) Cereal-baseq industry
(B} Pulses industry

(€) Sugarcane industry

(D) More than one of the above
(E) None of the above

[ { -:"'1-":’.
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111. Large number of thin strips of black paint

are made on the surface of a convex lens of
focal length 20 em fo caich the image of
a white horse. The image will be qp-ﬁ
(A} a zebra of black siripes i‘, g

(B) a horse of black stripes

(C) a horse of less brightness

(D} More than onc of the above

(E} None of the above

112. Shrillness of sound is determined by

(A} amplitude of sound

iB) wavelength of sound

(C} velocity of sound

(D} More than one of the above
(E} None of the above

113. Which of the following photoelectric devices
is most suitable for digital applications?

(A} Photovolaic cell

(B} Photoemitter

(C} Photodiode

(D} More than one of the above
(E) None of the above

114. Ball bearings are used to converl stalic
friction into
(A} drag
iB) sliding friction
(C) relling friction

(D) More than one of the above

{E} Mone of the above

02 FH/CC/PT-2023/144-A 14

118, A goalkeeper in 4 gaME of football pulls his
* hands backwards after holding the ball shot
af the goal, This enables the goalkeeper to

exert large force on the ball

g force exerted by the ball

(Al

(B} increase th
on hands

(C) decrease the rate of change of

micmenium

(D) More than one of the above

(E) None of the above

116. Which among the following is a positively
charged particle emitted by a radioactive
element?

(A) Beta ray
{B) Alpha ray
.[!;F-'m{{'.'} Cathode ray
ﬁﬁ{ﬂ} More than one of the above

{E) Mone of the above

117. Centripetal force is responsible fo

{A) keep the body moving along the circular
path

(B} fly the object along a straight line

(C) independent motion of the object in

space
iy More than one of the above

(E) None of the above

[ Contd.
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18 Which of the following energy changes

11%.

120

involves frictional force?

(A} Potential energy 1o sound energy

(B} Chemical encrgy to heat energy

(C) Kinetic energy lo heal energy

(D} More than one of the above

(E}) Mone of the above

A bus is moving along a straight path and

takes a sharp tum to the right side suddenly.
The passengers sifting in the bus will

{A) fall in the forward direction
(B) bent towards left side

(C) bent towards right side

il¥) More than one of the above

{E} None of the above

Refore playing the orchestra in a2 musical
concen, @ sitarist tries 10 adjust the tension
and pluck the string suitably. By doing se,
helshe is adjusting

{A) amplitude of sound
(B} intensity of sound

(C) freguency of the sitar string with the
frequency of other musical instruments

(D] Mare than one of the above

{E} None of the above

D2FHACC/PT-2023/144-A

121. A form of matter has no fixed shape but if has
. o lixed volume. An example of this form af

miatter 13

(& ¥l
{-_ﬁ;’--';:_ {A} krypton
iB) kermsene

(C) carbon steel

(D) More than one of the above
(E} Mone of the above

iy HT
122, Some metal oxides react with acid as well as
base to produce salt and \-El.l't:l." They are

known as amphoteric oxides. The examples
of amphoteric oxides are

(A) Al and £l e alin
2 NS 1T
(B) ALO; and CuO  yyatoyt The
(C) Culr and EnD

(D) More than one of the above

(E} None of the above

123. Which gas contributes to global warming
through i1 greenhouse effect”

(A) Nitrous oxide

(B} Methane

(L) Carbon dicxde

(13} More than one of the above

(E) None of the above

36 [ Cantd
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124. Acids react with metal carbonates fo liberate

125,

118.

Ras.
! "-'-'-'J.'
() €Oy Mn[?‘i“ cost
@ co thttY o nnd
(C) Hs
L

(D) More than one of the above

g |"-r-;',;1:
(Ey None of the above s
Which acid is described as HODCCOOH 7
(A) Owalic and
(B} Acetic acid
(C} Carbonic acid
(D) More than one of the above

129,

{E} Mone of the above

126. You have been provided with three test tubes.

.r:H

127,

One of them contains distilled water and

the other two Eﬂﬂlﬂ]n‘?ﬁldlc snluhun;laﬂd

aIl,ba:-:-. solutioal respectively. Which of them
will tum}l.d litmus 1o biue"’_]l

(A) Acid

(B) Base

(C) Distilled water

(D) More than one of the above
(E) Wone of the above

The odour of acetic acid resembles that of
(A} lomalo

{B) kerosenc

(C) vinegar

(D} Mn:e than onc of the above

(E) Mone of the above

02 FH/CC/PT-2023144-A

130,

Why does dry HCI gas mef change the
colour of dry litmus paper?

Blue litmus becomes dry in the presence
of dry HCl gas.

(A)

{E} No H_]'D+ Litmus

changes colour only n the presence of

Hy07"

ions are present

1ons.
{C) HCI gas acts as a dehydrating agent
More than one of the above

(D)

(E} Mone of the above

Detect the odd one.

(A} Setting of cement

(B) Burning of coal

{C) Ripening of fruil

{0y More than one of the above

(E} None of the above

Which of the following statements about

dsamond and _graphite 15 true”

{A} They have same crystal structure, =
{Hp They have same degree of hardness, v
(C) They have same electrical conductivity
{3y More than one of the above

P

{E) None of the above
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131. The stomats open of close due to change | 136. The paris of the skelction that are not as hard
as bones and which can be bent are called as

n the
{A) protein composition of cells (3] g | {A) carpals
(B) amount of water in cells 1 (B) cartilage
(C) position of nucleus in cells ! (") vertebrae
} (D) More than one of the above

i More than one of the above
{E} Mone of the above

(E} None of the above |
wavelengths of | 137. In lichen, a chlorophyll-containing partner,

132, Chlorophyvll absorbs :
the sunlight. ~ live together.
(A) green and blue » .
{A) fungus and a bacterium

(B) alga and a virus
(C) alga and a fungus
{D) More than one of the above

*'”"‘.E} Mone of the above

138. Female Anopheles can be distinguished from

— female Culex because il sits

(B) green and red
(C) red and bilue
(D) More than one of the above

(E) None of the above
13. Which of the following is mor a correct

match?
(A) Thick. hard stem with branching near | =
BaaE - Trke {A) at an angle with substratum
(B) Weak stem which cannot stand upright : (B} parai’ilel' to the surface of substratum
Creeper (C) at right angle to the surface of
substratum

(D) More than one of the above
{E) None of the above

139. The most important cell type associated with
the immunity of the body is

(C} Petiole : Attaches leaf to stem
(D} More than one of the above

(E} None of the above

Water reaches great heights in trees because

Hepes e (A) platelets
B} transpiration (R lymphacytes
) cvap:)mrinn .
3 -Moee thitis: bk oF ihe sbois (D) More than one of the above
) None of the above (E) None ol the above
hich amonp ‘the Tollowii it & tharaster 140. Which one of the following statements is
chloroplast which makes them qualified incorrect about mtlﬁgl_emEr_nan body?
self-replication? (A) Muscles work in pairs.
Presence of DNA only (B) Muscles become shorter, stiffer and
Absence of RNA | thicker when contracted.
Presence of both DNA and RNA (C) Muscles can only push the bone.
More than one of the above (D) More than one of the above
(E}) MNone af the above

MNone of the above
| Coned.
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146,

147,

Which of the following statements is false?
(A} Every square is 8 n:mngh# le
(B) Every thombus is a mmi]nlug%[ :
(C) Ewvery square is a Tl'btlmhu&

(I} More than one of the above

(E) None of the above

In a family of some persons, B says that R
is the daughter of my sister 4, who is the
only daughter of T. X is the child of Tand 2,
who is the grandmother of H. K is the mother
of M, who is the only sister of ¥ ¥ is
unmarried. If 5 is the spouse of 4, how 5 &
related to 57

(A) Sister-in-law

(B) Wife of brother-in-law

{C) Brother-in-law

(D} More than one of the above

(E} MNone of the above

0Z/FHCCTPT-2023/144-A

A

148, How many words, no matier if the, ”

149.

150.

meaningless, can be formed by the
of the word ‘DIARY"?

{A) 3

iB) 10

(C) 24

(D) More than one of the above
(E} NWone of the above

Select the missing number from the given
alternatives :

(44] 9] 37|

52| 7 |41
58 |35 |53 |

(&) 56

By T

(C) 66

(D} More than one of the above
(E) Mone of the above

Find the missing number in the given series
following the same patter :

I3, 20, 32, 62, 118, 248, ?
(A) 322
() 368
(C) 428
(D) More than one of the above

{E) None of the above
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